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CHAPTER |. GRAMMAR PRACTICE

PART 1. Grammar Rules in Tables
naron (The Verb)
HenctButenbHbin 3anor (The Active Voice)

Ta6bnuua 1. CBoaHasa Tabnuua ynotpeodneHusa HaCToALWMUX BPpeMeH

Present Simple Present Present Perfect Present Perfect
(Indefinite) Continuous HacTtosiwee Continuous
HacTtosiwee (Progressive) coBepLUeHHoe (Progressive)

npocTtoe HacTtosiwee HacTosiwee coBep-
(HeonpeneneHHoe) anvtenbHoe LWeHHO-ANUTeNnbHoe
1 2 3 4
NMocTosiHHbIE BpeMeHHble HepaBHO DenctBus,

cuTyaumm unum cuTyauumm. 3aKOHYMBLUMECH HavyaBLIMecs B
COCTOSIHUA. They’re staying at AencTBus. NPOLWNIoM u

She works as a the Park Hotel at She has tidied her npogonxarLwmecs

nurse. She owns a present. room. [0 HacTosiLero
large shop. (Ona 3akoHuuna MOMEHTa.
ybopKy KOMHaTbI. Bbl He’s been writing a
MoOXeTe BUAETb, YTO letter for two hours.
KOMHaTa cenvac (OH Havan nucaTb oBa
ybpaHa. — Pe3ynbTaTt | Yaca Hasag v Bce eLle
B HACTOSLLIEM) nuLeT.)
MoBTopsawwmecs/ OenctBuUA, 3akoHuYuBLUMECSH Mpownbie aencTBuA
NpUBbIYHbIE npoucxopsiume B npouwnbie onpeneneHHoM
nencrTeus MOMEHT peun AencTBus, NpoJoMKNTENb-
(ocobeHHO C wnu B CBsi3aHHble C HOCTU, UMeroLme
Hapeuynsamu HacToOALMMN HacToALWMM, C BUAUMbIE
YaCTOTHOCTHU: nepuoa BpeMeHU | YKasaHHOMW UMK He pe3ynbTaTbl UN"
often, usually un She is looking for yKasaHHOM nocneacTeus B
ap.) a better job. CCbIJIKOW Ha BpeMsi. HacTosIWEM.
| usually get up at I've met Madonna. (A She’s been crying
7.30. MOry BCTPETUTLCH C (Ee rnasa kpacHble).
HeWn onsTb, TaK Kak
OHa eLlle XuBa — He
3aKOH4YMBLUMKUCA
nepuosa BpeMeHN)
He has just bought a
car.
O6Lwen3BecTHbIE Yacto JInYyHBbIN Onsa BbipaxeHusn
¢hakTbl UnNu noBTOpPAKOLWMECA | oOnbiT/NepemMeHbl, | rHeBa, pa3apaxeHus,
3aKOHbI NpupoAabl. OencTBus ¢ KOTOopble BO3MYLUEHUA UK
Money doesn’t buy always, npousoLwnu. KPUTUKMN.
happiness. constantly, I've lost 10 kilos. Who has been using
Water freezes at continually ansa my tooth brush?
0 °C. BblpaXeHus
pasapaxeHus
WUIUN KPUTUKWN.
She’s always
interrupting me!




[MpooormxeHne Tabn. 1

2

4

(Ha camowm pene
OHa He Bceraa
npepbiBaeT
rOBOPSILLETO,
NpPOCTO C ero
TOYKWN 3pEeHUst OHa
aenaet 3To
CMNULLIKOM 4acTo.)

Pacnucanus/
nporpamMmbl
(6yaywee
3HayeHue).

The match finishes
at 7.45

The plane leaves at
6.05

3aBegomo
CNNaHMpPOBaH-
Hble U yXe
OpraHu3oBaHHbIe
OEeUCTBUA B
onwxxanwem
oyaywem.
The Browns are
visiting us tonight.
(Mbl ux yxe
NPUrNacunm, oHn
obeLLanu npunTK).
Bpemsa gencreus
OOJMKHO ObITb
yKa3aHo unu
SICHO U3
KOHTEeKcCTa.

Ons
nogvyepKuBaHusA
Konu4ecTBa.
She has called on
two clients since 12
o’clock.

Ona nogyepknBaHus
NPOAOIMKNTENIbHOCTH
She has been calling
on clients since this
morning.

O630pblI/
CNOpPTUBHbLIE
KOMMEHTapum 1
T.4O.

Jane Fonda acts
brilliantly in this film.

U3meHsaowmecs
unm
pa3BuBaroLmecs
cuTyaumm
His English is
getting better.

MpumeyaHue.

live, feel and work

ynotpebnsatTca Kak B Present Perfect, Tak
u B Present Perfect Continuous 6e3
pa3HuLbl B 3HA4YEHUN.
I've been living/I've lived in Rome for a year.

DenctBus,
coBepLialowmecs
B MOMEHT peuu
(BmecTo Present
Continuous) c
rnaronamm,
KOTOpble 00bI4YHO
He ynoTpeonsoTcs
BO BpeMeHax
rpynnbl
Continuous (to
see, to hearn 1.a.)
Don't talk too loudly,

| hear you well.

YnoTtpebnsietcsa
BMmecTO Present

Perfect Continuous ¢
rnarosiamm, oobI4YHO

He

ynotpeo6nsowmmmuca

BO BpeMeHax

rpynnbl Continuous.
| have known him for

three years.

B o6cTOosATENHECTBEHHBIX NPUAATOUYHbIX NPEeaANoXeHUAX YCIIOBUSA U BPeMEHMN,
KOTOpble BBOAATCA coro3amu if ecnu, unless ecnu ... He, provided that npu ycnosum
ecnun, when korpga, until, till Lo Tex nop, noka He, as soon as Kak TosnbKo, as long as
noka, before npexae 4yem u 1.4. ANA onucaHua SyayLWUX AEeNCTBUN:




OkoH4yaHue Tabn. 1

1 2 3 4
BmecTo Future BmecTo Future BmecTo Future BmecTo Future
Simple Continuous Perfect Perfect Continuous

We will send the
documents as soon
as we receive them
from Moscow.

Mbl npywnem
AOKYMEHTbI Kak
TONbKO Mbl MOMYYUM
nx n3 MockBbl.

I'll be reading the
newspaper while
you are writing
your grammar
exercises. A 6yay
ynTaTtb rasety, B
TO BpeMs Kak Bbl
Oynete nucaTb

I'll go to the country as
soon as | have passed
my examinations.

A noeny B AepeBHIO,
Kak TONbKO caam CBOu
9K3aMeHbI.

If he has been
working for seven
hours, he will be very
tired. Ecnn oH
npopaboTtaeT cemMb
Yyacos, OH byaeTt
OYeHb YCTaBLUUM.

rpamMmmaTtunyeckune
YNPaXKHEHWUS.
O6cToATeNbCTBA BPEMEHU, OOLIYHO UCMOJIb3yeMble C HaCTOSALMMM BPeMEeHaMu.
every day/ week/ Now, at the just, ever, never, already, yet (oTpuuaTtensHble
month/ year, usually, moment, at N BONpPOCUTENbHbIE NpeanoXeHus), always,
sometimes, always, present, how long, so far, recently, since (c kakoro-To

rarely, never, often,
in the morning/
evening/ afternoon,
at night, on
Mondays u T.4.

nowadays, today,
tonight, always,
still n T.4.

MOMeHTa B npowsiom), for (B Te4eHmne kakoro-
TO nepunoga speMeHn) today, this week/ month
n 1.4. For n since 06bIYHO NCNOMb3YIOTCS C
Present Perfect Continuous, 4To0ObI
NoAYEePKHYTb ONUTENbHOCTb OENCTBUS.

[(naronsl, onucbiBaloLLmne NOCTOSHHbIE COCTOSHMUA (state verbs), kak
NpaBusio, He ynoTpebnsaTcs Bo BpeMeHax rpynnbel Continuous. 3T10:
1) rmaronbl Bocnpuatus: see, hear, smell, feel, taste u 1.4. (Mbl yacTo
ncrnonb3yem can nnu could ¢ atumu rnaronammn) Can you see that tall boy over

there?

2) rnarosibl BblpaXXeHns MHeHUS: agree, believe, consider 1 1.4.

3) rnaronsl, BbipaxatLme YyscTea, amouuu: feel, forgive, hate, like, love n 1.4.
4) nopyrve rnaronbl: appear (=seem), be, belong, fit (=be the right shape and
size for sth), have (=possess), know, look (=appear), need, prefer, require,

want, weigh, wish u

T.0.

HekoTopble rnaronbl coctosHus (see, smell, taste, feel, think, have n 1.4.)
MOryT ynoTpebnatbca BO BpeMeHax rpynnbl Continuous, HO eCTb pasHuua B
3Ha4YeHuun, Hanpumep:

COCTOAHUE

The milk tastes awful
flavour)

(=has the texture)

| think she’s rich. (=1 believe)

. (=it has a bad

He has a pet dog. (=he owns)
This cloth feels like velvet.

| see you’re in trouble. (= | understand)

OEWCTBUE

I’'m thinking about your plan. (=I'm

considering)

He’s tasting the sauce; it might need some
salt. (=he’s trying its flavour)

He'’s having dinner now.

(=he’s eating)

She’s feeling her way in the dark.

(=she’s finding her way)

I’'m seeing my lawyer tonight.) (=I'm

visiting)




Tabnuua 2. CBogHasa Tabnuua ynotpeoneHus npoweawmx BpeMeH

Past Perfect
Past Simple (Indefinite) | ©2St Continuous Past Perfect Continuous
(Progressive) (Progressive)
Mpolwepawee npocroe Mpowepawee
Mpowepwee Mpowepwee
(HeonpepeneHHoe) coBepLUeHHoe
AnuTenbHoe COBEpLUEeHHO-
AnutenbHoe
1 2 3 4
Oencteua B npownom, | Oencrteue, kotopoe | lNMpownoe gencrteve, | lencreme, Kotopoe
KOTOpble MPOUCXOAUNN | HaXOAUIOCH B KoTopoe ANUNocbL B TeYeHue
OOHO 3a Apyrum. npouecce pasBuTus | NnpealwecTBoBano nepuopa BpeMeHun

She sealed the letter, put
a stamp on it and posted
it.

B onpeAeneHHbIN
MOMEHT B
npoLusiom.

He was playing
tennis at 4.30
yesterday.

Apyromy npowsomy
AeVUCTBUIO Unu
Npon3oLno K
onpeaeneHHoOMy
MOMEHTY B
npowsiom.

He had left by the time
| got there (unu by
8.15).

BMNMOTb A0
onpeaeneHHoOro
MOMEHTa B
NpoLLSIOM.

She had been
working as a clerk for
10 years before she
resigned.

Mpownasa npuBbIYKa
WIn cocTosiHNe

He used to go / went to
school on foot.
3aKoH4YeHHOe aencTeme
U cobbiTue, KOTOpoe
npousoLwrno B
yCTaHOBJIEHHOEe BpeMs
B NPOLUSIOM.

She called an hour ago.

Mpownoe gencrene
B npouecce
pa3BuUTHSA, KOTopoe
npepbiBaeTcs
APYrMM NpoLwwnbIM
aencrteuem. bonee
anuTtenbHoe
aencrteue
ynotpebnsertcsa B
Past Continuous,
6onee KoOpoTkoe — B
Past Simple.

While | was getting
dressed the bell
rang.

3aKOHY€eHHbIe
npowrsbie AeNCTBUSA,
KOTOpkIie nmenu
oyeBUAHbIE
pe3ynbTaTthbl B
npowsiom.

She was sad because
she had failed the
test.

Mpownoe gencrene
onpepeneHHoOn
ANUTEeNbHOCTH,
KOTOpOe umerno
oyeBUaHbIe
pe3ynbTaTthbl B
npowsiom.

They were wet
because they had
been walking in the
rain.

3akoHuuBLUEeeCH
npowrsoe gencreme, He
cBsi3aHHoe C
HacTosiwum. Bpems
AeNCcTBUA yKa3biBaeTcA
Wnu nogpasymMmeBaeTcs.
Elvis Presley made lots of
records (OnBuc ymep, OH
Oonblle HUYero He
3anuLier).

OBa wnu 6onee
OAHOBPEMEHHbIX
npoLwnbIX
aencrteus
onpepeneHHoOn
OnuTenbLHOCTU
While | was
sunbathing, Tim was
swimming.

Wnun onucaHune
00CTaHOBKM, Ha
¢oHe KoTopomn
pasBuBanuchb
cobbiTnA B
pacckase

She was flying to
Paris. The sun was
shining...

Mpowepwee
coBeplleHHoe
ABNsieTcs
3KBUBaneHToM
HacTosALero
COBepLUEeHHOro

(He can’t find his
watch. He has lost it.)
He couldn’t find his
watch. He had lost it.

Mpowepwee
COBepLUEHHO-
AnuTtenbHoe
ABnseTcs
3KBMBaNeHTOM
HacTosLero
COBepLUEHHO-
ANUTENbHOro
(She is going to the
doctor. Her leg has
been aching for two
days.)

She went to the
doctor. Her leg had
been aching for two
days.




OkKoH4YyaHue Tabn. 2

1

| 2

3

4

O6cTOoATENLCTBA BPpEeMeHU, OObLIYHO yNnoTpebnsieMble ¢ NpoLweaWwuMN BpeMeHaMMu.

Yesterday, last week u
T.4., (how long) ago,
then, just now, when, in
1992 n 1.4.

While, when, as, the
moment that n T.4.

for, since, already,
after, just, never, yet,
before, by, by the time
nT.A.

for, since

Ta6bnuua 3. CBogHasa Tabnuua ynotpebrneHus 6yaywmx sBpeMmeH

Future Simple

Future Perfect

(Indefinite) Futgre Contipuous Future Perfect l():ontinuo_us
Byayuee npocToe (Progressive) Byayuee (Progressive)
(HeonpeneneHHoe) Bynywee coBepLUeHHoe ByAyuwee

AnuTenbHoe COBepLUEeHHO-
AnuTenbHoe
1 2 3 4
PeweHusn, OenctBua B HenctBuUA, HdencrtBue, KoTopoe
KOoTopble npouecce pa3BUTUA | KOTOpPbIe oyaeT anuTbcs
NpUHUMaKOTCA B B YKa3aHHbIN 3aBepLwarTca A0 | BNNOTb A0
MOMEHT peuun (kHa | MOMEHT B byayuiem | ykasaHHOro onpeaeneHHOro
MecTe») He'll be sunbathing in | MOMeHTa B MOMeHTa B
Since it’s getting Hawaii this time next | 6yayuwem oyaywem.

dark, I'll turn on the
light.

week.

She will have come
back by the end of
July.
MpumeyvaHue: by
unu not ... until /
till
ynotpebnsiTcs B
Future Perfect.
Until / till, kak
npaBuno,
ynotpebnsercs B
Future Perfect
TONIbKO B
oTpuuaTenbHbIX
npeanoXeHUsX.
She will have
finished by 8
o’clock. She won’t
have finished until 8
o’clock.

By the end of this

year she will have
been working here
for two years.




MNponomkeHue Tabn. 3

1 2 3 4
Hapexabl, DenctBus, Kak
onaceHus, yrposbl, | pe3ynbTaT
npeanoxeHus, 3aBeAeHHOro
obGewaHums, nopsiaka (Bmecto
npeaynpexaeHus, | Present Cont.)
npocbLOLI, I'll be seeing John

KOMMeHTapum etc.,
0COOEeHHO c:
expect, hope,
believe, ’'m sure,
I’'m afraid,
probably etc.

I’'m afraid I'll be a
little late.

tomorrow.

(Mbl paboTaem B
OOHOM U TOM Xe
yypexaeHuu,
NO3TOMY Mbl
obsasaTernibHO
BCTpPEeTUMCS.)

OencrtBusa vnum
npeackasaHus,
KOTOpble MOryT
nNPoOu3onTN B
Gyayuwem.

She’ll probably buy
the dress.

(npeackasaHue) ANA Hac unm

Wnu gencTBus, npeanoXuTb
KOTOopble caenatb 4T0-NMbO
HEeBO3MOXHO ANs HUX.
koHTponupoBaTb 1 | Will you be going to
Hen3oexHo the supermarket? Can
AOJKHbI you buy me some
CNy4YUTbCA. tea?

He will be ten next

year.

Koraa mbi BexnuBeo
MHTepecyeMcsl, YTo
noau cobupatrotcs
AenaTb Ansa Toro,
YTOObI Yy3HaTh,
CMOTYT NI OHU
caenatb 4TOo-NMb0

Bewwu, B KOTOpbIX
Mbl COMHeBaeMcsl
WK ewle He
pewunu, genartb
nn.

She’ll probably be
promoted (elue He
YBEPEHDI).

Shall ncnonb3syetcs ¢ MECTOUMEHUAMU
I/We B Bonpocax, npeasioxXeHuUsax, unu
Korga cnpawmBaroT coBeTa.

Shall we go for a walk? Who shall | invite?

Will ucnonb3syetca ana BbipaxeHus
npeanoXxeHUn, yrpos, obeLlaHniu,
npeackasaHuu, npeaynpexaneHun,
npocbO6, Haaexna, Hagexna, CTpaxoBs, Ha
MecTe NMPUHATLIX pelleHnn (06bI4YHO C
think, expect, believe.

I’m sure John will pass his driving test.

YnoTtpebneHue KOHCTpyKuum to be going to ans onucaHus 6yayLumMx AeNCcTBUN




OkoH4YyaHue Tabn. 3

1 2

3

4

HenctBuUA, 3annaHnpoBaHHbIe

KOTOopble AeNCcTBUA unu
HamepeBalTCs HamepeHus.
BbINONHUTL B Now that they’'ve
6n11M3Kom settled in their new
oyayuwem. house, they’re going

She’s going to visit
her parents
tomorrow.

to have a party.

O4yeBMAOHOCTb, YTO
YTO-TO onpepnesrieHHo
OOJIKHO NPON3OUTU
B 6nn3kom 6yayuiem
Ann is going to have

a baby.

Look at the dark,
clouds in the sky! It's
going to rain.

Bewwu, B KOTOpbIX
Mbl YBepPeHbl Unu
yXXe peLumnu
caenatb B 65IM3KOM
Gyayuwem.

He’s going to be
promoted
(HavanbHuk yxe
peLnn 3To caenarb).

O6cTosAATenbCcTBa BpeMeHU, OObIYHO ynoTpebnsowmecs ¢ oyaywmmm BpeMeHamMm
M KOHCTpyKuuen to be going to

Tomorrow, tonight, next week/month/year,
in two/three etc. days u T.4., the day after
tomorrow, soon, in a week/month u 1.4.

before, by, by then, by
the time, until
(ncnonb3yeTcs TONbKO
B OTpuLaTeNbHbIX
npeanoXxXeHusx)

By ... for

CtpapatenbHbin 3anor (The Passive Voice)

CTpapaTtenbHbIv 3anor ynotpebnserca Toraa, Koraa noanexatiee
o6o3HayvaeT nNMLUOo UNu npeamMeT, KOTOPOe He caMo BbINOJIHAET AencTBue,
a noaBepraeTcsl 4EUCTBUIO CO CTOPOHbI APYroro nuua unv npeamMera.

The planets are attracted by the sun. NnaxeTbl npuTarMeaTCA CONHUEM.

CTpapaTtenbHbIv 3anor obpasyeTcs ¢ nomMmolubio rnarona to be B

COOTBETCTBYHLLEM BPEMEHU U NPUYACTUA NpolueaLlero BpeMeHu

(3-a chopma rnarona).

He invited me to the concert. | was invited to the concert (by him).
CTpapaTtenbHbIv 3anor ynotpebnseTca:

1. Korga nuuo, Kotopoe BbINOMNHAET
AeucTemne, HeM3BeCTHO, 3TOMYy He

KOHTeKcTa.
My car was stolen yesterday

(ML n3BECTHO).

The road repairs were completed last week
(3HayeHna He npugaeTcs).

The kidnappers have been arrested

(by the police — o4eBNOHLIN UCNONHUTEND).

npunaaetcd 3Ha4eHus Nin 31o NOHATHO U3

v ap.

(HoBOCTM)

3. Korpa pencrtBue 6onee BaXHo, 4emM
UcnonHuTenb, KakK, Hanpumep, B
coobLeHnAX HoBocTen, opuLmnanbHbIX
00 bABNEHNAX, MHCTPYKTaXax,
3arofioBKax, peKkfaMHbIX 00 bABNEHUsAX

Taking pictures is not allowed
(MMcbMeHHOe 0bbsABNEHNE).
The local bank was robbed this morning.

Bred is baked in an oven for about
45 minutes (npouecc).

2. YtoObl caenatb yTBepXaeHus bonee
BEXJIMBbIMU UNn opuumnanbHbIMMU.

My new suit has been burnt (3710 3ByunT
bonee BexnuBo, Yem You've burnt my new
suit).

AeNCTBUA.

the Conqueror.

4. NMopyepKkuBaeTcs UCNOJSTHUTENb

The Tower of London was build by William




PART 2. Grammar Exercises

3adaHue 1. Cornocmasbme rpeorio)eHus!, 8 KOmMopbix yriompebrstomcs
Hacmosiwue speMmeHa delicmeumernibHo20 3asoea (Present Tenses Active
Voice), ¢ HuxxernpugedeHHbIMU 06 bSCHEHUSIMU S13bIKOBbIX cumyayud.

1. He drinks a litre of milk every day.

2. Milk contains a lot of vitamins.

3. He is getting stronger.

4. She has just passed her exams.

5. She is having a party at the moment.

6. He has been working all day.

7. She has phoned him three times this morning.

8. He is always borrowing money from me.

9. She has been walking all morning. (Her feet are aching.)

1

0. They are getting married next week. (They’ve already sent the invitations.)

a) noavyepkMBaeTcs NPOOOIKUTENbHOCTb AENCTBUS

b) BpemeHHas cutyauus

C) BblpaXeHue pasgpaxeHns no noBogy 4acto MOBTOPSAOLLErocs 4eNCTBUS

d) nogyepkmBaeTcs KONnM4ecTBo

e) NpuMBbIYHOE AencTBue

f) HepaBHO 3akOHYMBLLEECH AENCTBUE

g) obLien3BeCcTHbIN (hakT

h) nsmeHsaLwascs nnun passmeaioLLlasca cuTyauuns

i) TBEpOO ChnaHMpoOBaHHOE U y)Ke OpraHn3oBaHHOE OENCTBUE B
brnivkanwem byaywem

j) npowroe gencTene onpeaeneHHon NpoaoKUTENBHOCTH, UMetoLLEee
BMAMMbIE pe3ynbTarbl UK NOCNEACTBUSA B HACTOSILLEM.

3adaHue 2. Cornocmasbme rpeoriox)eHus!, 8 KOmopbix yriompebristomcs
Hacmoswue epeMmeHa delicmeumernibHo20 3asnoea (Present Tenses Active
Voice), ¢ HuxernpugedeHHbIMU 06 bSCHEHUSIMU S13bIKOBbIX cumyayud.
Pele passes to Geraldinjo ... and Santos scores!

Wha’s been drinking my orange juice?

Light travels faster than sound.

He’s been watching TV since 6 o’clock.

Spencer opens the door and sees the murderer.

He lives in Tokyo.

I've learnt a lot in this class.

The film starts at 11 o’clock.

My mother is cooking dinner.

10 Michael Jackson has made a lot of records.

CONOORWN =~

a) [OencTBue, HayaBLLEeecs B NPOLUIIOM U NPoAoIKaloLeecs 10 HacTOALWEero

MOMEHTAa



b) noctosiHHas cuTyauma

C) npownoe AencTeue, Nnpousollellee B HeykasaHHOe BpeMsi, CBA3aHHOE C
HaCTOALLNM.

d) CnopTMBHbBIN KOMMEHTaPUN

€) JWYHbIW ONbIT NN N3MEHEHUS, KOTOPbIE MPON30LLITN

f)  pencrtsue, Npoucxogsiee B HACTOALLMN MOMEHT UMM B HACTOSALL U
nepuos BpeEMEHM.

g) pacnucaHue, nporpamma

h) gencrteue, Bbl3blBaloLLee pa3gpaxeHue

ApamMmaTunyeckoe NoBecTBoOBaHME

3aKOH npupoabl.

3adaHue 3. Bbibepume ripasursibHyo ¢hopMy araz2ona u3 08yX rpedsioKeHHbIX.
1. | ... that the situation is out of control
A. see B. am seeing
2. The sausages ... delicious.
A. are tasting B. taste
3. ... this party?
A. Do you enjoy B. Are you enjoying
4. You haven’t said a word all morning. What ... about?
A. are you thinking B. do you think
5. He ... a Siamese cat.
A. has B. is having
6. These flowers ... nice.
A. are smelling B. smell
7.1 ... where she keeps the keys.
A. don’'tknow  B. am not knowing
8. Why ... your pockets? Have you lost anything?
A. are you feeling B. do you feel
9. Why ... the milk? Do you think it has gone off?
A. do you smell B. are you smelling
10. Anna is ltalian. She ... from lItaly.

A. is coming B. comes
11. That dress ... nice on you.
A. looks B. is looking
12. Paul ... to a new record in his room.
A. listens B. is listening
13. If you ... at that comic book, I'd like to see it.
A. don’t look B. aren’t looking
14. Joan ... 50 kilos.
A. weighs B. is weighing
15. Mary ... very naughty these days
A.is B. is being

3adaHue 4. Cornocmasbme rpeoriox)eHusi, 8 KOmMopbix yriompebristomcs
npowedwue epemeHa deticmeaumeribHO20 3arioca (Past Tenses Active Voice),
C HUXerpueeOeHHbIMU 06 BbSICHEHUSIMU 13bIKO8bIX cumyauyud.



. It was raining and the wind was blowing.
. He was exhausted because he had been walking all day.
. There was no juice left because Jack had drunk it all.
. She had finished by 8 o’clock.
. The storm broke out after we had been driving for four hours.
. He got into the plane, started the engine and flew off into the clouds.
. The party had already started by the time | arrived.
. Elvis Presley died in 1977.
. I was cycling to work when | fell off the bike.
10 My grandfather met Winston Churchill.
11. | was sleeping at 3 o’clock yesterday afternoon.
12. She had been trying to find a job in Hollywood for years.
13. When she was young, she danced a lot.
14. Ted was reading a book while Mary was sleeping.
15. She was upset because she had lost her watch.

O©CoONOOOPWN -

a) npowwnbin akBuBarneHT Present Perfect

b) nencreue, KOTOpPOE HaXOAUNOCH B NMpoLiecce pasBnUTUS B
onpeneneHHbIn MOMEHT BPEMEHU B NPOLLIIOM

C) eCTBUSA B NPOLUNOM, KOTOPbIE NPOUCXOAMUAN O4HO 3a APYrUM

d) oencTBme, He CBA3aHHOE C HACTOALLMM U NponsoLlellee B
onpeneneHHbIn MOMEHT BPEMEHU B NPOLUSIOM, XOTS CaM MOMEHT He
YNOMSAHYT

e) onucaHne obCcTaHOBKM, Ha (POHE KOTOPOM pasBMBannCh COOLITUA B
pacckase

f) oencTBMe, KOTOpoe ANUIIoChb B TeYeHne nepuoga BpeMeHu BnnoTh 40
onpeneneHHoro MOMeHTa B MPOLLNOM

g) npowwnbin akBmBarneHT Present Perfect Continuous

h) npownoe gencrene, KOTOpoe NpeaLecTBoBano ApYyroMy npoLsiomy
JEencTBuUo

i) NpoLunoe gencTene B npoLecce pasBUTUS, KOTOPOE NpepbiBaeTCs
APYrMM NpoLunbIM AeNcTBUEM

j) npoLwunoe gencreme, KOTOPoe NPOU3OLLIIO K onpeaesieHHOMY MOMEHTY B
NPOLLIIOM

k) cobbiTe, KOTOpOe NPOU3OLLIIO B YCTAHOBITIEHHOE BPEMS B MPOLUIIOM
|) npownoe gencrene onpegeneHHon AnnTenbHOCTU, KOTOPOe UMENOo
BYAUMbBIE pe3yribTaTbl B NPOLUIOM

M) 3aKOHYMBLLEECS NMpoLUroe AeCTBUe, KOTOpoe MMeSo BUANMbIE
pesyrnbTaTbl B NPOLUIIOM

N) npoLusblie NPUBbLIYKK

0) OQHOBPEMEHHbIE NpoLUSble 4ENCTBUS.

3adaHue 5. Cornocmasbme rpeorioxeHusi, 8 Komopbix yriompebrsomcs
bydywue spemeHa deticmaumeribHo20 3asioea (Future Tenses Active Voice),
Hacmosiwue spemeHa delicmeumeribHo20 3asoea (Present Tenses Active
Voice) u koHcmpykuyus to be going to, ¢ HuxernpueedeHHbIMU 06 bSCHEHUSMU
A13bIKOBbIX cumyauyud.



)
0)

Look out! That dog is going to bite you.
I'll be flying to Morocco this time tomorrow.
She is worried that he’ll be angry.
By 11 o’clock she’ll have been waiting for five hours.
The London train arrives at 4.45
I’'m seeing my bank manager this morning.
When I'm older, I'm going to learn to drive.
| think I'll make some tea. Do you want some?
He'll have finished by tomorrow afternoon.

. Will you be going into town today?

. I'm sure he’ll pass the test.

. She’ll probably come early.

. I’'m going to buy a new car tomorrow.

. Shall | post this letter for you?

. Don’t pull cat’s tail. It will scratch you.

RPN OXNOURWN

CrnaHnpoBaHHOE 1 OpraHn3oBaHHoe encTene B brnwkanwem byayiem
AencTeune, kKoTopoe byaeT 3akoHYEHO K onpegerneHHoOMY MOMEHTY B
Oynywem

pacnucaHue

onaceHuns no nosoay éyayuero

CBUOETENbCTBO TOr0, YTO YTO-TO HaBEpPHsIKa Cry4uTCs B Bnvxkanwem
Oynywiem

byoyliee HamepeHue

OEeNCTBME B NpoLecce pa3BUTUA B YKa3aHHbI MOMEHT BpeMeHn B Byayuiem
Aencrteune, kKotopoe byaet onNuTbcA 40 onpedesieHHOro MOMeHTa BpeEMEHN B
Oynywem

3annaHvpoBaHHOe OelCTBUE Unu HamepeHne B bnvxanwem dygyuiem

Ha MecTe NPUHATOE peLleHne

YTO-TO, B YEM MbI €LLEe HE YBEPEHDI

BEXINNBOE BbIICHEHNE NITAHOB N0AEN

) NpeackasaHue

npeaynpexaeHue
npennoxeHue.

3adaHue 6. Bbibepume ripasursibHy0 ¢hopMy 2riaz2orsna u3 08yx rpedrioXeHHbIX.

—_—

2.

5.

6.

She’ll call us as soon as she ... London.

A. will reach B. reaches
| don’t know when he ... .
A. will leave B. leaves
3. What will you do if you ... an accident?
A. will have B. have
4. Turn the lights off before you ... to bed.
A. will go B. go
Don’t go out until it ... raining.
A. will stop B. stops
| will write to you as soonas | ... .
A. will be able to B. can

7.

He will be angry if you ... home late.



A. will come B. come
8. If I ... you $5, what will you buy?
A. will give B. give

3adaHue 7. Cornocmasbme rpeorio)eHus!, 8 KOmMopbix yriompebristomcs
gpeMeHa cmpadamersibHo20 3arioea (Passive Voice), ¢ HuxernpueeoeHHbIMU
06BACHEHUSIMU S13bIKO8bIX cumyauyud.

Animals shouldn’t be fed.

Hamlet was written by Shakespeare.

She’s just been told the bad news.

Dinner is being served.

The building has been destroyed by fire.

Juice is made from oranges.

A bomb was placed in the station yesterday.

The jewellery is being stolen.

i B ol

a) npolecc NpUroToBieHns
b) raseTtHas cTaTbs
C) ucnosiHUTerb AENCTBUA HE BaXeH
d) peuncrteume bonee BaxxHoe, YEM UCMNOSTHUTEND
e) nogyepkMBaeTcHa UCMONHUTESNb JENCTBUA
f) Bexnueoe ykasaHue
g) ucnosiHuTernb AENCTBUA NOHATEH U3 KOHTEKCTa
h) TeneBM3MOHHbLIE HOBOCTMN.
Keys
3apgaHne 1.1.e; 2.g; 3.h; 4.f, 5. b; 6.a; 7.d; 8.c¢ 9. 10.1.
3agaHne 2.1.d; 2.h; 3.j;, 4.a; 5.i; 6.d; 7.e; 8.g; 9.f, 10.c.
3apanne 3.1.A; 2.B; 3.B; 4.A; 5 A; 6.B; 7.A; 8. A; 9.B; 10.B;
11.A; 12.B; 13.B; 14.A; 15.B.
3apaHne 4.1.e; 2.1; 3.a; 4.j; 5 f 6.c; 7.h; 8.k; 9.i; 10.d;
11.b; 12.9; 13.n; 14.0; 15 m.
3apaHne 5.1.e; 2.9; 3.d; 4.h; 5.c; 6.a; 7.f 8.j; 9.d; 10.1;
11.m; 12.k; 13.i; 14.0; 15.n
3apgaHne 6.1.B; 2. A; 3.B; 4.B;

5.B;. 6.B, 7.B; 8.B.
5.b

3agaHve 7. 1.f;, 2.e; 3.d; 4.c/d; h; 6.a; 7.h/b; 8.g/d.



CHAPTER Il. READING PRACTICE

PART 1. FOR SECOND YEAR THE STUDENTS OF THE COMPUTER
AIDED DESIGN AND RADIO ENGINEERING FACULTIES

UNIT |
1. Read the text, entitle and summarize it.

As more ways are found to jam circuits onto silicon chips, a new barrier to
smaller and faster computers is emerging. The plastic or ceramic package that
carries electrical signals on wires in and out of the chip is still bulky —
sometimes 20 times as big as the chip.

One solution, promoted by National Semiconductor Cooperation and
others, is tape automated bonding. Instead of the wires and prongs (WTbipb)
now used to connect, chips, connections are etched into copper foil. These
connections are five times closer together than the prongs are. IBM has tried
abandoning chip packages altogether, connecting the chips directly to a surface
containing multiple levels of wiring.

2. Inthe 1970’s some forecasts about the development of electronics in 1980-
1990’s were made, read them and agree or disagree with them. Use the
following expressions.

—As far as | know... — The efforts continue in the direction of...
— To my knowledge... — It appears that the (process) will...

— For all | know... — To sum up...

— Intensive efforts have been

devoted to...

1. Further developments in thick and thin film circuits will extend the range of
values achievable using deposition and evaporation techniques, although some
applications may still require «pellet» type components. 2. Hybrid microwave
devices will decrease in importance as true microwave integrated circuits
become more economical. 3. The use of an electron beam instead of a light
beam in the photographic process will result in integrated circuits with vastly
increased numbers of functions per chip. 4. Materials other than silicon will be
used, and other phenomena and structures besides junction barriers formed by
p and n impurities can be considered.

3. Translate these terms and memorize them.
Chip: array chip; face-down chip; base chip; bipolar chip; component chip;
gate array chip; dense chip; fast chip; master chip; math chip, chip-carrier
Gate: discrete gate; insulated gate; intrinsic gate; transistor gate; two-
input gate; diode-transistor-logic gate
Junction: back-to-back junction, blocking junction, intrinsic-extrinsic
junction; isolation junction
4. a) Define types of ICs, b) Discuss problems of using semiconductors,
c¢) Discuss the advantages of microelectronics, d) Using the following
structural logical scheme, speak about electronic components.



Electronic elements

— \ Passive

Active
. \ Semiconductor devices
l Resistors,
: capacitors,
Transistors, Tubes relays
diodes, optoelectronic printed boards
elements, power switches
transistors, rectifiers . : ICs dynamics, ect.
Discrete semi-conductor
devices
/ v
Monolithic IC
HIC
/ Logic
arrays
Microprocessors Memory

devices

UNIT Il

1. Read the text and speak about the facts influencing resistor performance.

You may understand the meaning of the italicized words from the context.
Photoresists

Photoresists are high-sensitive materials used to generate etched
patterns in substrates. The quality of the etched images depends upon the
success of every step in the process, and the image flaws may be due to resist
or non-resist imperfections, or to conditions which underline resist performance.
Some fundamental factors influencing resist performance include adherence
coating thickness, heat treatment, and resist response to various energy
sources. Let us start with adherence.

A strong bond between photoresist and substrate is essential to minimize
dimensional changes during development and undercutting or loss of
adherence during etching. The intimate contact between resist and substrate
required for strong adhesion can be inhibited by surface impurities or resist
components. Zones of weakness can be created by surface contaminants such
as dust, oil, absorbed gases (particularly absorbed water), dopant ions, or
monolayers of previous resist coatings. Removal of obvious visible impurities
such as grease, fingerprints, or dust can give an apparently clean surface, but
contamination is often insidious (onacHbIn) because it is invisible. Weakly
adsorbed layers of tobacco smoke, water vapor, vacuum pump vapors, or
nonstripped resist components may be present, even though difficult to detect.
Condensing one’s breath on the surface or placing the wafers on a cold plate
can sometimes reveal an adsorbed pattern on unetched wafers after resist

stripping.




2. Read the text and make an English annotation of it. Use the following
phrases.

1. ... deals with; 2. ... is largely as a result of; 3. ... is discussed;

4. ...offers properties; 5. to sum up...

Ceramic-to-Metal Seals

Ceramic-to-metal seals are a natural extension of the state-of-the-art
where adverse temperature, shock and vibration conditions prevail. Alumina
ceramics are widely used for high-performance electronic applications because
of their excellent properties and moderate costs. Beryllia ceramic-to-metal seals
are available but generally limited to where high heat transfer is needed.

The alumina family offers a combination of desirable properties for
ceramic-to-metal seals:

Electrical — high resistance, low losses, and high dielectric strength.

Mechanical — high compressive, tensile, and flexible strength, high impact
strength and high hardness.

Thermal — intermediate thermal expansion coefficient that enables sealing
to many metals and matching components, good thermal conductivity, good
thermal shock resistance, and good high temperature properties.

Chemical — extremely stable and surface capable of withstanding harsh
chemicals and cleaning procedures.

3. Read the text. Sum up general requirements for materials.
Materials Requirements

The following are the general requirements for a material for interconnects
and contacts: high electrical conductance, low ohmic contact resistance,
electromigration, stable contacts (with silicon and final metallization), corrosion
and oxidation resistance, high temperature stability, strong adhesion
characteristics.

One of the primary considerations is to obtain a material with high
electrical conductivity and low ohmic contact resistance. It should also have
good electromigration resistance and be stable when in contact with silicon
and/or oxide and the final metallization.

These parameters must be maintained throughout the high temperatures
encountered during processing; i.e., to maintain their metallurgical integrity. This
requires that the melting point of the materials should be much higher than
conventional process temperatures.

4. Using the scheme, classify film materials.

Film materials

—

resistive capactive conductive active
Titanium Silicon oxides Aluminium Silicon
Rhenium Silicon nitrides Gold Cadmium sulphide
Molybdenum Aluminium oxide Silver CdTe
Tantalum Barium titanite Tin Organic

Copper Semiconductors



5. Compare some materials you know with different physical, electrical and
optical properties which are currently used in microelectronics.

UNIT Il
1. Read the text. Draw a conclusion about the advantages of GaAs devices.
Describe the principle of the device operation shown in figure.

[[I-V Semiconductor Integrated Circuits

[lI-V semiconductors attract the attention of scientists and manufactures
working in the field of microelectronics. This interest is based upon the ability of
these materials to satisfy a wide variety of needs.

Technological applications include high  speed  processing,
communications, sensing and imagining, and many others. Integrated circuits
with various combinations of MESFET, JFET, bipolar, Gunn, Schottky diode,
laser diode, optical detector, light guide, acoustic wave, and other assorted
functions are being explored, developed and utilized.

One of the first large-scale applications of 1lI-V semiconductors was light-
emitting diodes (LEDs) which are two terminal devices that emit light when a
forward-bias current is passed through a p-n junction. An energy state and

device construction is given in figure.
Contact
/ . Radiations

>

Current flow

ctive
Contact region
Current flow

When an electron in the conduction band combines with a hole in the
valence band, the energy is emitted as photon and light is produced. Of course,
non-radiative processes and light re-absorption must be minimized for high
efficiency. To emit light visible to the human eye, a band gap near 2 eV is
necessary to provide the proper photon energy, which precludes use of the
semiconductors except GaP, which produces red-green light.

At the beginning of the 1970’s, the GaAs MESFET device was developed
for use in circuits such as microwave amplifiers operating in the frequencies
range from about 2 to 12 GHz. The device is fabricated on a base of single-
crystal semi-insulating GaAs. A GaAs film containing a closely-controlled
concentration of n-type dopant atoms is epitaxially deposited on the GaAs
wafer. The devices are completed by etching «mesas» or islands to electrically
isolate the device and by adding low resistance contacts and a gate electrode.
The gate length is typically 1 ym.



The first integration of GaAs MESFET transistors into logic gates was
done in 1974. These gate have been integrated into gated flip-flop integrated
circuits and used for prescalers and time-interval measurements. These GaAs
integrated circuits operate at substantially higher speeds than silicon ICs
because of a combination of higher transconductance due to higher electron
mobility, and lower parasitic capacitance due to higher substrate resistivity. The
higher substrate resistivity in GaAs is a result of its larger band gap. Semi-
insulating GaAs material naturally provides device-to-device electrical isolation.

Digital capability in GaAs has passed from the SSI (small-scale
integration, ~ 10 gates) realm into the MSI (medium-scale integration,
~ 100 gates), and is headed for LSI (large-scale integration, ~ 1000 gates).
Fabrication of an 8x8 bit parallel multiplier (1008 gates fabricated from
approximately 6000 transistors and diodes) has been recently reported, which is
the most complex GaAs integrated circuit reported to date.

GaAs IC technology is being developed to meet important system needs.
Advanced systems are faced with challenges which require significant
advances in the rate of real-time signal. An attractive objective is to convert
analog microwave signals to digital format in a high-speed A/D converter as
close as possible to the microwave receiver front, and them to process the data
digitally. The bandwidth, which can be achieved in' GaAs, should be capable of
permitting digital processing of microwave signals including A/D conversion to
become a reality.

2. Using your knowledge of microelectronics, make the following written reports:
a) Technologies of semiconductor devices and ICs,
b) New materials and new technologies in IC, LSI, VLSI manufacture.

3. Translate the following Russian terms into English.

MexaHuyeckaa ob6paboTka, anuTakcus, oTonutorpadmnsa, XMMmMYeckas
obpaboTka, Tepmumyeckaa obpaboTka, cbopka, KOHTPONb, pe3ka, LWIndoBKa,
NONMPOBKA, HapalwMBaHWE 3NUTAKCUMANbHOrO Crosl, KOHTPOSb TOJILLUMHBI,
yAenbHOro conpoTUBREHUs, OedeKkToB, NepBoe OKUCreHue, dotonutorpadud
6a3bl, guddysna b6opa, gotonutorpadpuma amuttepa, anddysms doccopa,
doTonuTorpadus KOHTaKTHbIX OKOH, HamnblfeHne antMuHma, ootonntorpadund
KOHTaKTOB, BXWraHuWe artoMUHUS, HanblfleHne 3050Ta, KOHTPOSfb pas3mMepoB
9S1EMEHTOB, TONWMWHbI AN Y3NOHHBIX Cnoes, NOBEPXHOCTHOIo
COMPOTUBAEHUS, [Oe(EKTOB, W3MEPEHNE INEeKTPUYECKUX XapaKTepUCTUK
CTPYKTYP Ha nnacTuHe, cKkpanbupoBaHWe, MOHTaX KpucTasnmnoB, pasBoKa
BbIBOAOB, repmMeTmnsauma, U3MepeHus, UCMbiTaHUS.

UNIT IV
1. Read the text and make a one-page written report on
the theme «Some facts from the history of

computersy.
2.



The Development of Computers

Modern computers come in an enormous variety of sizes and shapes,
ranging from the smallest personal computers to huge machines filling
warehouse-sized rooms. Nearly one hundred fifty years ago there were no such
things as computers — at least in the sense we are using the term now. There
have been calculating aids for millennia. Knotted ropes, marks in clay, the
abacus, and the soroban are all methods of keeping track of numbers. But the
stored-program computer really did not come into existence until the 1830.

A score of years after the war of 1812, an English inventor and
mathematician Charles Babbage was commissioned by the British government
to develop a system for calculating the rise and fall of the tides.

Dozens, even hundreds of clerks busily calculating away throughout their
lifetimes could not get their job done, let alone do it without errors. Babbage
decided to build a device he called an analytical engine.

He designed the first programmable computer, complete with punched
cards for data input. Incidentally, the punched card was not invented for use
with the computer but was used as early as the 1700’s by Bouchon and in the
1800s by Jacquard to control automatic looms (cTtaHok). Babbage adapted the
idea for his computer, and it has been with us ever since.

Babbage gave the engine the ability to perform different types of
mathematical operations. The machine was not confined to simple addition,
subtraction, multiplication, or division, it had its own «memory» and, because of
this «stored programy», the machine could use different combinations and
sequences of these to suit to purposes of the operator. It became an
autonomous machine, able to perform on its own, once commanded to do so as
were the automated looms and the common clock.

The machine of his dreams was never realized in his lifetime.

Yet Babbage'’s idea didn’t die with him. Others made attempts to build
mechanical, general-purpose, stored-program computers throughout the next
century. In the process it became clear that mechanical methods of general-
purpose computing on all but the most modest scale were simply not practical.

In 1941 a relay computer was built in Germany by Conrad Zuse. It was a
major step toward the realization of Babbage’s dream. The logical operations of
the computer were alterable by changing the interconnections among the
relays. At the same time, in the United States, International Business Machines
(IBM) built a machine in cooperation with scientists working at Harward
University under the direction of Prof. Aiken during the years from 1939 to 1944.
The computer, called the Mark | Sequence-Controlled Calculator, was built to
perform calculations for the Manhattan Project, which led toward the
development of the atomic bomb.

The relay computer had its problems. Since relays are electromechanical
devices, the switching contacts operate by means of electromagnets and
springs. They are still fairly slow and very noisy. They also consume a lot of
power, if their contacts become dirty or corroded, they are unreliable.

The gadget (npucnocobnenue) that was the basis for the first computer
revolution was the vacuum tube, an electronic device invented early in the



twentieth century. The vacuum tube was ideal for use in computers. It had no
moving parts, or at least no mechanical moving parts. It switched flows of
electrons off and on at rates far faster than possible with any mechanical
device. It was relatively reliable, lasting hundreds of hours before failure.
Previously, computer designers could think only in terms of hundreds of
calculations in a program to be run on a mechanical computer. Now they could
easily conceive of programs with thousands of related computations using a
vacuum-tube computer. The first vacuum-tube computer was built at lowa State
University at about the same time as the Mark . It was the beginning of the
revolution. It was called ABC (Atanasoff-Berry Computer). From the ABC a
number of vacuum-tube digital computers evolved.

A splendid example of these first generation electronic computers is
ENIAC (an acronym for Electronic Numerical Integrator and Calculator). ENIAC
was over 90 tons and bulging into 3000 cubic feet and costing millions. Its 18
thousand vacuum tubes demanded 140 kilowatts of electrical power, enough to
supply a block of buildings of respectable size. With its 16,000 bytes of random
access memory and its 100-kilohertz clock, it was not quite up to the basic
computer capability of modern computers. Since its programs were hardwired —
that is, the programs operating the computer were established by physically
changing the patterns of the wires interconnecting the vacuum tubes — it was
not so flexible in its operation.

From the university laboratories the computer finally entered the wider
world in 1951 with the delivery of the first UNIVAC | (Universal Automatic
Computer).

In 1948 the next key element in spreading the practical — and impractical —
applications of computers, the transistor, came into existence. The potential
advantage of the transistor over the vacuum tube was almost as great as that of
the vacuum tube over the relay. A transistor can switch flows of electricity as
fast as the vacuum tubes used in computers, but the transistors use much less
power than equivalent vacuum tubes, and are considerably smaller. With the
transistor came the possibility of building computers with much greater
complexity and speed than was considered even remotely possible just 10
years before.

The integrated circuit constituted another major step in the growth of
computer technology. Until 1959 the fundamental logical components of digital
computers were the individual electrical switches, first in the form of relays, then
vacuum tubes, then transistors. In the vacuum tubes and relay stages,
additional discrete components such as resistors, inductors, and capacitors
were required in order to make the whole system work. These components
were generally each about the same size as packaged transistors. Integrated
circuit technology permitted the elimination of some of these components and
«integration» of most of the others on the same chip of semiconductor that
contains the transistor. Thus the basic logic element — the switch, or «flip-flop»,
which required two separate transistors and some resistors and capacitors in
the early 1950’s, could be packaged into a single small unit in 1960. The chip
was a crucial development in the accelerating pace of computer technology.



UNITV
1. Read and make a written translation of the following text
into Russian.
Software

The chips and other electronic elements and the various peripheral devices
constitute the computer's hardware. The hardware can do nothing by itself; it
requires the array of programs, or instructions, collectively called software. The
core of the software is an «operating system» that controls the computer's
operations and manages the flow of information.

The operating system mediates between the machine and the human
operator and between the machine and an «application» program that enables
the computer to perform a specific task.

To understand the kind of tasks done by the operating system, consider the
sequence of steps that must be taken to transfer a file of data from the primary
memory to disk storage. It is first necessary to make certain there is enough
space available on the disk to hold the entire file. Other files might have to be
deleted in order to assemble enough continuous blank sectors. For the transfer
itself sequential portions of the file must be called up from the primary memory
and combined with «housekeeping» information to form a block of data that will
exactly fill a sector. Each block must be assigned a sector address and
transmitted to the disk. Numbers called checksums that allow errors in storage
or transmission to be detected and sometimes corrected must be calculated.
Finally, some record must be kept of where the file of information has been
stored.

If all these tasks had to be done under the direct supervision of the user,
the storage of information in a computer would not be worth the trouble. Actually
the entire procedure can be handled by the operating system; the user merely
issues a single command, such as «Save file». When the information in the file
is needed again an analogous command (perhaps «Load file») begins a
sequence of events in which the operating system recovers the file from the
disk and restores it to the primary memory.

2. Using the plan given below, prepare reports to discuss general
directions of microprocessor applications.
3. The application of microprocessors into control systems, particularly for
vehicles.
4. The application into manufacturing systems and the means of production,
which may include instruments as well as control devices.
5. The inclusion of microprocessors in the consumer goods to be produced.
4. The use of computer-based systems to design or manufacture, usually
referred to as CAD/CAM.
5. Robot machines.

UNIT VI
1. Look through the text. How would you entitle it and why?

The electron beam is an addressing pointer of high definition and energy
density that can easily be deflected. In storage tubes of the 1940’s there were



severe limitations to such addressing because of the use of surface change
storage and inadequacies in focusing and deflecting the beam. Two recent
innovations, storage within a semiconductor and compounded deflection, may
bring us closer to realizing the inherent potential of beam addressing.

The addressing is in two parts. First, the beam is deflected by a short
conical structure of low aberration and strikes normally one of the appertures of
a matrix of lenslets.

The matrix is made up of two metal plates that have an array of holes
(an 18 by 18 array on 1.5-mm centers) and are maintained at different
potentials. Second, the beam is deflected by bars running along rows and
columns between the holes of the matrix. No matter which lenslet is reached,
the reduced beam will be subjected to the deflection. In this compounded
deflection the accuracy and stability at each step need only be a small fraction
of what would be required with a single step.

2. Read the text and sum up the information about a cache memory.
Cache Memory

A cache memory is a small, high-speed system memory that fits between
the CPU and the main memory. It accesses copies of the most frequently used
main-memory data. When the CPU tries to read data from the main memory,
the cache memory will respond first if it has a copy of the requested data. If it
doesn’t, a normal main-memory cycle will occur.

Cache memories are effective because computer programs spend most of
their memory cycles accessing a very small part of the memory.

A cache memory cell has three components: an address memory cell, an
address comparator and a data memory cell. The data and address memory
cells together record one word of cached data and its corresponding address in
main memory. The address comparator checks the address cell contents
against the address on the memory address bus. If they match, the contents of
the data are placed on the bus.

An ideal cache memory would have many cache memory cells, each
holding a copy of the most frequently used main-memory data. This type of
cache memory is called fully associative because access to the data in each
memory cell in through the data’s associated, stored address.

Not all locations in the memory address space should be cached.
Hardware 1/O address shouldn’t be cached because bits in an I/O register can
and must change at any time, and a cache copy of an earlier 1/O state may not
be valid.

3. Study the «Memory Technology» table and fill in the information you know
about different types of memory.



Memory Technology

Type

Predominant
Technology

Cycle or access time

bit storage

Registers and discrete

Monolithic integrated
circuits

50 to 500 nanoseconds

scratch-pads

High speed control and

Planar thin films

100 to 500 nanoseconds

High speed internal
main memories

Magnetic core

0.3 to 5 microseconds

Random access
auxiliary storage

Magnetic core

2 to 10 microseconds

On-line auxiliary

Electromechanical

15 to 150 milliseconds

storage disk files
Off-line auxiliary Magnetic tape serial Serial
storage access

4. Make your report about « The State-of-art and Future Development of

Memory Technologies».




PART 2. FOR SECOND YEAR STUDENTS OF THE FACULTY
OF TELECOMMUNICATIONS

UNIT |
|. Read the text. Then read the titles. Which of the following titles is the best?
a) Cellular Phone Network.
b) Personal Communications Services.
c) Cellular Radio Telephone
d) Types of Telephones.

Cellular radio telephone is also called cellular telephone or cell phone, it is
a low-powered, lightweight radio transceiver (a combination transmitter—
receiver) that provides voice telephone service to mobile users. Cellular
telephones operate as portable telephones; whereas normal telephones require
a cord that connects to a jack in order to access the extensive wire line
networks operated by local telephone companies, cellular telephones are not
restricted by a cord. 1

Cellular telephones work by transmitting radio waves to cellular towers.

2 . The area a tower can cover is referred to as a cell; the towers
within these cells are networked to a central switching station, usually by wire,
fiber-optic cable, or microwave. The central switching station handling cellular
calls in a given area is directly connected to the rest of the wired telephone
system. Cellular calls are picked up by the towers and relayed to the rest of the
telephone network. Since the cells overlap, as a mobile caller moves from one
cell into another, the towers «hand off» the call so communication is
uninterrupted.

3 , and cellular coverage is increasing in rural areas. Due to the
convenience and mobility of cellular telephones, users generally pay a higher
fee than they would for normal telephone use. A newer generation of cellular
radio technology, called Personal Communications Services (PCS), operates
much like earlier cellular services, but at higher frequencies (around 1900 MHz).
PCS also utilizes completely digital transmissions, rather than the analog
transmissions that many current cellular telephones use. Digital transmissions
convert sound into digital form, which can be transmitted faster and more
efficiently than analog signals.

Both cellular radio and PCS use high-frequency radio waves to transmit
calls. High-frequency waves have short wavelengths that pass by a given point
ata very high rate. They provide better sound quality than lower-frequency
waves (such as AM radio) and ensure reliable cellular links to and from towers
over short distances. However, high-frequency signals cannot effectively travel
as far as low-frequency signals. For cellular networks, this limited range is
advantageous, because it means the same frequencies can be reused at
nearby locations. This ability to reuse frequencies is helpful, because there are
a limited number of radio frequencies available to cell phone companies.

4 :

The transceiver inside a cellular phone is a much more complex device
than a conventional phone used over the wire line network. A cellular telephone
has circuitry that creates a unique identity code that is used to locate and track



the telephone and is necessary for coordinating calls to and from the telephone,
and for billing such calls.

New cellular telephones have several features. These new phones have a
small liquid crystal screen that can display the telephone number that is being
called, the number of an incoming call, or a short text message, much like a
pager displays this information. Other types of cellular telephones have a
variety of functions that include a memory for frequently called numbers and a
lock to deter theft. 5 :

Rechargeable batteries provide the usual source of power, but most cell phones
can also be attached to the cigarette lighter in a vehicle or to some other
external power device.

Il. Read the text again. Choose the best sentence from the list below to

complete each gap.

a. These towers vary in the area they cover and can receive nearby cellular
telephone signals from 1,5-56 km distances.

b. Like other waves of energy, sound normally travels in straight lines, but
sound can turn corners.

c. It also allows cellular network provides to accommodate a larger number of
users.

d. Because mobile telephones use radio waves to send and receive calls, the
device must include a power source.

e. Cellular telephones have become very popular with professionals and
consumers as a way to communicate while away their regular phones.

f. The human ear does not hear all frequencies of sound in the same way, and
a low sound is perceived as being less loud than a high sound of the same
intensify.

g. Cellular phone networks exist in most metropolitan areas.

Ill. Choose the best answer on these questions according to the text.
1.  What is the other name of cellular telephones?
a. voice telephone service,
b. radio transceivers,
c. cellular radio telephones.
2.  Where are radio waves of cellular telephones transmitted to?
a. to cellular towers,
b. directly to the wired telephone system,
c. torural areas.
3. What type of transmissions is more effective?
a. analog,
b. digital.
4. What is the unique identity code set aside for?
a. to concert side into digital form,
b. to locate and track the telephone,
c. to display the telephone number.
5. What are the functions of mobile telephones?
a. to receive nearby cellular telephone signals,



b. to send and receive calls,
c. for billing telephone calls.

IV. Here are some dictionary definitions of the words from the text. Each word
has more than one definition. Choose the definition that fits each of the words in
the text best.
1) cell a) a microscopic unit of living matter enclosing a nucleus with
self-producing genes,
b) unit of an apparatus for producing electric current by chemical
action, often of metal plates in acid, often part of a battery.
2) wave a) long ridge of water, esp. on the sea, between two long
hollows,
b) wave like motion by which heat, light, sound or electricity is
spread or carried.
persons with whom one spends one’s time,
number of persons united for business or commerce.
quantity or amount,
one issue of a periodical, esp. for one day, week, etc.

3) company

4) number
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V. Find words and expressions which mean the same as the following.
1) demand

2)

3) usually
4) profitable
5) fluid

VI. Make an outline of the text in 7-10 sentences.

UNIT I
. Read the text. Then read the titles. Which of the following titles is the best?
a) Space Satellites.
b) Global Positioning System.
c) Segments of Global Positioning System.
d) Radio-Navigation Systems.

Global Positioning System (GPS) is a space-based radio-navigation
system, consisting of 24 satellites and ground support. GPS provides users with
accurate information about their position and velocity, as well as the time,
anywhere in the world and in all weather conditions.

GPS, formally known as the Navstar Global Positioning System, was
initiated in 1973. 1 . GPS satellites carry atomic clocks that provide
extremely accurate time. The time information is placed in the codes broadcast
by the satellite so that a receiver can continuously determine the time the signal
was broadcast. The signal contains data that a receiver uses to compute the
locations of the satellites and to make other adjustments needed for accurate
positioning. The receiver uses the time difference between the time of signal
reception and the broadcast time to compute the distance, or range, from the
receiver to the satellite. The receiver must account for propagation delays, or



decreases in the signal's speed caused by the ionosphere and the troposphere.
With information about the ranges to three satellites and the location of the
satellite when the signal was sent, the receiver can compute its own three-
dimensional position.

An atomic clock synchronized to GPS is required in order to compute
ranges from these three signals. However, by taking a measurement from a
fourth satellite, the receiver avoids the need for an atomic clock. 2

GPS comprises three segments: the space, control, and user segments. The
space segment includes the satellites and the Delta rockets. GPS satellites fly in
circular orbits at an altitude of 20,100 km (12,500 mi) and with a period of 12 hours.
The orbits are tilted to the earth's equator by 55 degrees to ensure coverage of
polar regions. 3 . Each satellite contains four atomic clocks.

The control segment includes the master control station in Colorado, and
monitor stations in the Atlantic, Indian and South Pacific Oceans. These
stations monitor the GPS satellites. The control segment uses measurements
collected by the monitor stations to predict the behavior of each satellite's orbit
and clock. The prediction data is uplinked, or transmitted, to the satellites for
transmission to the users. 4

The user segment includes the equment of the military personnel and
civilians who receive GPS signals. With more than 500,000 GPS receivers, the
civilian community has its own large and diverse user segment. Surveyors use
GPS to save time over standard survey methods. 5 . GPS tracking
systems are used to route and monitor delivery vans and emergency vehicles.
In a method called precision farming, GPS is used to monitor and control the
application of agricultural fertilizer and pesticides. GPS is available as an in-car
navigation aid and is used by hikers and hunters. It is also used on the Space
Shuttle. Because the GPS user does not need to communicate with the
satellite, GPS can serve an unlimited number of users.

Il. Read the text again. Choose the best sentence from the list below to
complete each gap.

a) We know that the atom is mostly empty space with a minute central
nucleus some tens of thousands of times smaller than the atom.

b) Powered by solar cells, the satellites continuously orient themselves to
point their solar panels toward the sun and their antennae toward the
earth.

c) GPC is used by aircraft and skips for en route navigation and for airport or
harbor approaches.

d) GPC determines location by computing the difference between the time
that a signal is sent and the time it is received.

e) That makes it possible to send signals long distances, and in the XX
century the world was united without wires.

f) Thus, the receiver uses four satellites to compute latitude, longitude,
altitude, and time.

g) The control segment also ensures that the GPC satellite orbits and clocks
remain within acceptable limits.



Ill. Choose the best answer to these questions according to the text.
1. What are the constituent parts of Global Positing System?
a) solar cells, solar panels,
b) latitude, longitude, altitude, and time,
c) 24 satellites and ground support.
2. When was GPC initiated?
a) in 1973,
b) in 1955,
c) in 1971.
3. What is the way to avoid the need for an atomic clock?
a) to use a code,
b) to take a measurement from a fourth satellite,
c) to account for propagation delays.
4. Why are the orbits of GPC satellites titled to the earth’s equator?
a) to avoid the need for an atomic clock,
b) to orient themselves to point their solar panels, toward
the sun and their antennae toward the earth,
c) to ensure coverage of polar regions.
5. What segment is necessary to predict the behavior of each satellite’s orbit
and clock?
a) the space segment,
b) the control segment,
c) the user segment.

IV. Here are some dictionary definitions of words from the text. Each word has
more than one definition. Choose the definition that fits each of the words in
the text best.

1) time a) the passing of all the days, months, and years, taken as a
whole;
b) occasion.
2) receiver a) person who receives,
b) part of an apparatus for receiving smth.
3) segment  a) part cut off or marked off by a line,
b) division or section.
4) control a) power or authority to direct, order or restrain;
b) station at which cars taking part in a race may stop for

overhaul, etc.
V."  Find words and expressions which mean the same as the following.
backing
guarantee
have or hold within itself
staff
unbounded
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VI. Make an outline of the text in 7-8 sentences.

UNIT Il
. Read the text. Then read the titles. Which of the following ftitle is the best?



) How the Computer Works.
) How the Web Works.

) The World Wide Web.

) How the Internet Works.

When users want to access the Web, they use the Web browser on their
client computer to connect to a Web server. Client computers connect to the
Web in one of two ways. Client computers with dedicated access to the Web
connect directly to the Web through a router (a piece of computer hardware that
determines the best way to connect client and server computers) or by being
part of a larger network with a direct connection to the Web. Client computers
with dial-up access to the Web connect to the Web through a modem,

1 . Some modems send signals over cable television lines or special
high-capacity telephone lines. The client computer and the Web server use a
set of rules for passing information back and forth. The Web browser knows
another set of rules with which it can open and display information that reaches
the client computer.

Web servers hold Web documents and the media associated with them.

2 . Client computers access information from Web servers, and any
computer that a person uses to access the Web is a client, so a client could be
any type of computer. The set of rules that clients and servers use to talk to
each other is called a protocol. The Web, and all Internet formats, uses the
protocol called TCP/IP (Transmission Control Protocol/Internet Protocol).
However, each part of the Internet — such as the Web, gopher systems, and File
Transfer Protocol (FTP) systems — uses a slightly different system to transfer
files between clients and servers.

The address of a Web document helps the client computer find and
connect to the server that holds the page. The address of a Web page is called
a Uniform Resource Locator (URL). A URL is a compound code that tells the
client’s browser three things: the rules the client should use to reach the site,
the Internet address that uniquely designates the server, and the location within
the server’s file system for a given item. An example of a URL is
http://encarta.msn.com/. The first part of the URL, http.//, shows that the site is
on the World Wide Web. Most browsers are also capable of retrieving files with
formats from other parts of the Internet, such as gopher and FTP. Other Internet
formats use different codes in the first part of their URLs — for example, gopher
uses gopher:// and FTP uses ftp.//. The next part of the URL, encarta.msn.com,
gives the name, or unique Internet address, of the server on which the Web site
is stored. Some URLSs specify certain directories or files, such as
http://encarta.msn.com/explore/default.asp — explore is the name of the
directory in which the file default.asp is found.

The Web holds information in many forms, including text, graphical
images, and any type of digital media files: including video, audio, and virtual
reality files. Some elements of Web pages are actually small software programs
in their own right. These objects, called applets (3 ), follow a set of
instructions written by the person that programmed the applet. Applets allow
users to play games on the Web, search databases, perform virtual scientific
experiments, and many other actions.

a
b
c
d




The codes that tell the browser on the client computer how to display a
Web document correspond to a set of rules called Hypertext Markup Language
(HTML). Each Web document is written as plain text, and the instructions that
tell the client computer how to present the document are contained within the
document itself, encoded using special symbols called HTML tags. The browser
knows how to interpret the HTML tags, so the document appears on the user’s
screen as the document designer intended. In addition to HTML, some types of
objects on the Web use their own coding. Applets, for example, are mini-
computer programs that are written in computer programming languages such
as Visual Basic and Java.

Client-server communication, URLs, and HTML allow Web sites to
incorporate hyperlinks, which users can use to navigate through the Web.
Hyperlinks are often phrases in the text of the Web document that link to
another Web document by providing the document’s URL when the user clicks
their mouse on the phrase. 4 . Hyperlinks allow users to jump between
diverse pages on the Web in no particular order. 5 , and scientists
believe it bears a striking resemblance to the way the human brain accesses
stored information. Hyperlinks make referencing information on the Web faster
and easier than using most traditional printed documents.

Il. Read the text again. Choose the best sentence from the list below to
complete each gap.

a) From a small application, another name for a computer program.

b) The client’s browser usually differentiates between hyperlinks and ordinary
text by making the hyperlinks a different color or by underlining
the hyperlinks.

c) They can be ordinary personal computers, powerful mainframe computers,
or anywhere in the range between the two.

d) These are essentially Web sites containing searchable data base of
Uniform Resource Locators (URLS).

e) A hardware device that translates information from the computer into signals
that can travel over telephone lines.

f) This method of accessing information is called associative access.

g) These will enable the user to type the desired word or by clicking
on the letters to form it in a utility window.

Ill: Choose the best answer to these questions according to the text.
1. How is the part of computer hardware, responsible for the best connection
between client and server computers, called?

a) a modem,

b) a router,

c) an applet.
2.  What does a Uniform Resource Locator (URL) stand for?

a) Web page address,

b) Web document,

c) Internet format.
3. What is the computer language, used in the creation of applets?



a) Ada,
b) C#,
c) Java.
4.  What does the address of a Web document serve for?
a) It is used to name web documents.
b) It helps the client computer to find the server that holds the page.
c) It specifies certain directories and files.
5. What is the main function of hyperlinks in a client-server communication?
a) Hyperlinks substitute traditional printed documents.
b) Hyperlinks quicken the search of referencing information.
c) Hyperlinks allow users to jump between different pages on the Web in a
strict order.

IV. Here are some dictionary definitions of words from the text. Each word
has more than one definition. Choose the definition that fits each of the
words in the text best.

1. network a) a group of broadcasting stations connected to transmit

the same program simultaneously,
b) a chain of inter connected operations, computers, etc.

2. file a) a collection of related data under a specific name,
b) a container for keeping papers in order.

3. code a) a set of rules or conventions,
b) a set of program instructions.

4. protocol a) the ceremonial etiquette accepted as correct in official dealings
between heads of state or diplomatic officials,
b) the formatting of data in an electronic communications system.

V. Find words and expressions which mean the same as the following.
1. admission
2. definite
3. directions
4. to decipher
5. various
VI. Make up an outline of the text (10-12 sentences).

UNIT IV
I. Read the text. Then read the titles. Which of the following titles is the best?
a) Office Equipment.
b) Office Automation.
c) Computers and Periphery.
d) How the Modem Works.

The rapid growth of the service sector of the economy has furnished a new
market for sophisticated office automation. Computers 1 and specialized
software programs are taking over tasks such as facsimile transmission or FAX,
mail, and telecommunications that were once performed by separate pieces of
equipment. In fact, the computer has virtually taken the place of typewriters,



calculators, and manual accounting techniques and is rapidly taking over graphics
design, production scheduling, and engineering design.

Desktop PCs have become increasingly affordable as a result of industry-
wide adoption of the architecture of the PC introduced in 1981. Although it has
become feasible to provide virtually every office worker with a PC, 2
In the late 1980’s and early 1990’s, many companies began programs of linking
or «networking» multiple PCs into a unified system.

The local area network (LAN) was created in response to the need for a
standardized system of linking computers together in a company. The most
common method used to connect computers to a network is by means of
coaxial cables. Newer-generation networks use optical fiber connections. When
computers are not in close physical proximity, networks may use microwave
radio or infrared radiation to link the computers. Microwave radio requires a dish
antenna for transmission and reception; infrared radiation requires a lens for
transmission and a mirror and lens for reception. 3

The need for computer «connectivity» has established the usefulness of
the peripheral device known as the modem. Modems permit two computers to
communicate by telephone in order to access databases, transmit files, upload
and download facsimile transmissions, and send and receive electronic mail.
Early transmission speeds using this equipment were relatively slow —

300 baud. 4

Text materials in typed or printed form can be input directly into a
computer by means of a scanner. To read text, optical character recognition
(OCR) software must first be used to convert printed documents electronically
into computer-readable files. Scanners obviate the need to rekey printed text in
order to input it; they can also be used to input graphic material.

Computer-based electronic message systems are an alternative to
telephonic communications or conventional interoffice memoranda.

E-mail has become a key part of the communications networks of most
modern offices. Data and messages can be transmitted from one computer to
another using telephone lines, microwave links, communications satellites, or
other telecommunications equipment. 5 . E-mail is sent through a
company's own local area network or beyond, through a nationwide or
worldwide communications network. E-mail services use a central computer to
store messages and data and to route them to their intended destination. With a
subscription to a public e-mail network, an individual PC user needs only a
modem and a telephone to send and receive written or vocal messages.

Il. Read the text again. Choose the best sentence from the list below to
complete each gap

a) Other methods used for wide-area networking include telephone and
communications-satellite linkage.

b) Since all e-mail addresses are written in Latin script, no special procedures
are required to locate one in Russia.

c) either stand-alone or as part of a network

d) The same message can be sent to a number of different addresses.



e) Some modems now operate at speeds of more than 50,000 baud and have
error-checking and data-compression features.

f) It is more cost-effective for PC users to share files and common peripherals
such as printers, facsimile boards, modems, and scanners.

g) It can narrow down the scope of the search considerably.

Ill. Choose the best answer to these questions according to the text.
1. When did it become possible to provide each office worker with a PC?
a) in 1981,
b) in the late 1980’s,
c) in the early 1990’s.
2. What may networks use to link computers, which are not in direct closeness?
a) optical fiber connections,
b) telephone and communications — satellite linkage,
c) microwave radio and infrared radiation.
3. How is the device, one of the functions of which is to send and receive
electronic mail, called?
a) a scanner,
b) a modem,
c) a fax.
4. What is the device used to input graphic material?
a) a printer,
b) a Xerox,
C) a scanner.
5. What should a PC user have to subscribe to a public e-mail network?
a) modem and scanner,
b) modem and telephone,
c) telephone and printer.

IV. Here are some dictionary definitions of words from the text. Each word has
more than one definition. Choose the definition that fits each of the words in the
text best.

1) program a) a scheduled radio or television broadcast,
b) a sequence of instructions fed into a computer.
2) office a) a room or building where business is carried out,
b) a position of authority.
3) satellite a) a planet orbiting another,
b) a man-made object orbiting the earth, moon, etc.
4) address a) a place where a person resides,

b) a specific memory location where information is
stored.

V. Find words and expressions which mean the same as the following.
1) correspondence
2) apparatus
3) to contain
4) to allow



5) to keep
VI. Make up an outline of the text (7—9 sentences).

UNITV
. Read the text. Then read the titles. Which of the following titles is the best?
a) A Computer-Based Network.
b) World Wide Web.
c) A Part of the Internet.
d) The Internet.

World Wide Web (www) is a computer-based network of information
resources that a user can move through by using links from one document to
another. The information on the World Wide Web is spread over computers all
over the world. 1 :

The Web has become a very popular resource since it first became
possible to view images and other multimedia on the Internet, a worldwide
network of computers, in 1993. The Web offers a place where companies,
institutions, and individuals can display information about their products,
research, or their lives. 2 . A small percentage of information on the
Web is only accessible to subscribers or other authorized users. 3 :
Museums, libraries, government agencies, and schools make the Web a
valuable learning and research tool by posting data and research 4
Users can read text, view pictures, listen to sounds, and even explore
interactive virtual environments on the Web.

Like all computer networks, the Web connects two types of computers—
clients and servers — using a standard set of rules for communication between
the computers. The server computers store the information resources that make
up the Web, and Web users use client computers to access the resources.

A computer-based network may be a public network — such as the worldwide
Internet — or a private network, such as a company’s intranet. 5

The Internet also encompasses other methods of linking computers, such as
Telnet, File Transfer Protocol, and Gopher, but the Web has quickly become
the most widely used part of the Internet. It differs from the other parts of the
Internet in the rules that computers use to talk to each other and in the
accessibility of information other than text. 6

Il. Re-read the text. Choose the best sentence from the list below to complete
each gap.
a) The Web also carries information in a wide spectrum of formats.
b) The Web has become a forum for many groups and a marketplace for
many companies.
c) The World Wide Web is often referred to simply as «the Web».
d) It is much more difficult to view pictures or other multimedia files with
methods other than the Web.
e) Anyone with access to a computer connected to the Web can view most
of that information.
f) The Web is a part of the Internet.



Ill. Choose the best answer to these questions according to the text.
1. What methods of linking computers does the Internet encompass?
a) Telnet, File Transfer Protocol,
b) Gopher,
c) Telnet, Gopher, File Transfer Protocol.
2. What stores the information resources?
a) the Internet,
b) a private network,
c) the server computers.
3. What can users do on the Web?
a) read text, view pictures,
b) listen to sounds, explore interactive virtual environments,
c) everything that is mentioned above.
4. How does the Web connect two types of computers?
a) by posting data and research,
b) using a standard set of rules for communication between the computers,
c) with a company’s intranet.
5. Is a company’s intranet a...
a) public network?
b) private network?
c) computer program?
IV. Here are some dictionary definitions of words from the text. Each word has
more than one definition. Choose the definition that fits each of the words in the
text best.

1) view to consider, regard, think about;
to examine, look at thoroughly.
2) access means of entering, way in, entrance;

to include or be concerned with;
to surround completely.
a group of connected things, group forming a whole;
b) an apparatus for receiving and showing television signals.

a)

b)

a)

b) means or right of using, reaching, or obtaining.
3) encompass a)
b)
a)

4) set

V. Find words and expressions which mean the same as the following.
1) someone who receives the use of a service over a period of time, for which
they pay
2) to give formal permission to or for
3) to examine carefully in order to find out more
4) having great usefulness

VI. Make up the outline of the text.

UNIT VI

. Read the text. Then read the titles. Which of the following titles is the best?
a) Continuing Communications Revolution.
b) Technological Changes in Communications.



c) Technology and the Media.
d) Visions of the Future World.

The sense that the world is in the middle of a continuing communications
revolution has been strong since the 1960’s when television made its great
breakthrough. It was then that the word «media» became part of daily speech,
covering not only electronic media, live television, but older print media,
particularly the press.

The most important technological changes in communications since the
1960’s, apparent in the way that both the Internet and the media have
developed, have all involved what has been called «convergence» or what in
France has been described more poetically as «the ballet of the electrons».

1 . Binary digit signals enable language, numbers, images, patterns,
and music to be communicated through a common technology. 2

They would have seemed in the past to have belonged not to science but to
science fiction. The word «information» itself seems to be inadequate. It covers
«entertainmenty», raising different issues, and it encompasses ways of learning
as well as of communicating.

The continuing communications revolution has brought the media not only
into the library or the office but into the home. The modern home has been a
place of entry not only for books, magazines, newspapers, cassettes, discs, and
videos but for «hardware», including radio and television sets, record players,
telephones, typewriters, cameras, projectors, calculators, and computers.

3 . They are all products, hardware or software, of the continuing
communications revolution. Each one, of course, has had its effect on the
particular home, and not all modern homes include them. 4

Nonetheless, what were once thought of as luxuries — television sets, for
example — become to be thought of as necessities, and what were once thought
of as «novelties» (with an element of miracle about them) begin to be taken for
granted.

5 . What will be the next stages? Will old media disappear? For
example, what will happen to the book or to the compact disc? How will the
newspaper change? Will it ever become completely electronic? Can public
broadcasting survive? What is the future of digital terrestrial television? Will we
have new business alliances and consortia? 6 . At the individual level
will E-mail displace letters or fax? Will the relationship between media
producers and editors and users (or customers) become more interactive?

At the more fundamental level will digitalization divide the world even
more than at present into «haves» and «have nots» — those countries that have
the capacity and ability to develop new digitalized networks and those that do
not? Will the concentration of economic power in the hands of those who now
own quite different segments of media — from books to motion pictures and from
cable to satellite — endanger individual freedom? Will the opportunity of choice,
offered to individuals, mean that the field of choice will be genuinely widened?
May we not have more and more of the same thing?

It is logical to separate out questions relating to technological
developments from questions relating to ownership and control, but, in practice,
visions of the future world involve bringing them together. It is difficult in present



circumstances to avoid the blurring of «image» (seeing the world as it is
presented to us or as we present it to ourselves) and «reality». 7 . The
media in their mediation can create what has come to be called «virtual reality»;
and Internet can offer fantasy ways of escaping from the restraints of life as it is
lived to a world of cyberspace. Cyber words have multiplied during the 1980’s
and 1990’s — from «cybernaut» to «cyborg» through a whole new vocabulary.

Il. Re-read the text. Choose the best sentence from the list below to complete
each gap.
a) Their physical presence and access to them depends on family income
and choice.

)
c)
d) The possibilities seem almost limitless.

e) The questions multiply.

f) Each has its own history: each poses distinct questions about technology

and use.
g) Digital technology, bringing together computing and solid-state
electronics, certainly revolutionizes telecommunications and the media.

Ill. Choose the best answer to these questions according to the text.
1. When did the word «media» become part of daily speech?

a) in 1960,

b) since 1960’s,

c) since the 1960’s when television made its great breakthrough.
2. What revolutionizes telecommunications and the media?

a) digital technology,

b) communications revolution,

c) digital technology together with computing and solid-state electronics.
3. What covers «entertainment»?

a) cassettes, discs, videos,

b) information,

c) the ballet of the electrons.
4. What can create «virtual reality»?

a) media,

b) Internet,

C) cyberspace.
5. Why do not all modern homes include products of the «continuing
communications revolution»?

a) because they are «noveltiesy,

b) because they are luxuries,

c) because access to them depends on family income and choice.

IV. Here are some dictionary definitions of words from the text. Each word has
more than one definition. Choose the definition that fits each of the words in the
text best.
1) apparent a) easily seen or understood;

b) seeming to be real but not necessarily so.
2) income a) money which one receives regularly;



b) money provided by one’s family rather than earned by
working.

3) escape a) to be unnoticed or forgotten by;

b) to get away.

a) a condition of great comfort provided without any
consideration of the cost;

b) something that is very pleasant and enjoyable but not
necessary and not often had or done.

4) luxury

V. Find words and expressions which mean the same as the following.
a) to accept a fact or situation without questioning its rightness

b) to ask a question that is difficult or needs to be carefully thought
about

c) to go out of sight
d) an important advance or discovery, often after earlier failures

VI. Make up the outline of the text.



PART 3. FOR SECOND YEAR STUDENTS OF THE FACULTY
OF ECONOMICS

UNIT |
. Read the text. Then read the titles. Which of the following titles is the best?
a) Health Insurance in Different Countries
b) Newspapers in Different Countries
c) Job Advertisements in Different Countries
d) Management in Different Countries

Checking out job advertisements is popular with executives worldwide.
But though the activity is universal, is the same true of the advertisements?

Are executive positions in different countries advertised in the same way?
A comparison of the job pages of The Times of London, Le Mode of Paris and
Germany’s Frankfurter Allgemeine Zeitung suggests «not».

First, what UK job seekers consider an essential piece of information —
what the post pays — is absent from French and German adverts. It is often to
raise this themselves. In contrast, most British advertisements mention not only
salary, but also other material incentives including a car and fringe benefits.
French or German advertisements rarely refer to these. 1 . In France
and Germany, that information is given by the level of experience and
qualifications demanded. Salary can be assumed to correspond with this.

If French and German adverts are vague about material rewards, they are
precise about qualifications. 2 ./In Germany, for example, a technical
director for a machine tool company will be expected to have a Dipl.-Ing. degree
in Mechanical Engineering.

French advertisements go further. They may specify not just the type of
grande école degree, but sometimes a particular set of institutions (formation
supérieure X, Centrale, Mines, HEC, ESSEC), these being the most famous
grandes écoles.

All this contrasts with the vague call for «graduates» (or «graduate
preferred») which is found in the UK. British companies often give the
impression that they have a particular type of applicant in mind, 3
Their wording suggests hope and uncertainty, as in this advertisement from The
Times: «Whilst educational standards are obviously important, a large measure
of personal enthusiasm is likely to secure the success of your application».

In the UK qualifications beyond degree level make employers nervous,
but in France or Germany it is difficult to be «overqualified». Many people on
German executive boards have doctorates and the French regard five or six
years of intensive post baccalauréat study at a grand école as ideal training.
British managers are not selected primarily for their intelligence, as managers
are in France, or for their expert knowledge, as in Germany. 4 . This
difference is also shown in the personal qualities mentioned. British
advertisements stress energy, ability to communicate and motivate. German
advertisements like achievement, but it tends to be less personality-driven.
German companies want candidates with sound knowledge, experience and
competence in their field. They rarely recruit novices as do British employers.
French advertisements refer more to intellectual qualities like analytical aptitude



and independence. 5 . By French and German standards, British
advertisements are very racy. They attract young executives with challenges
such as: «Are you reaching your potential?», whereas French and German
advertisements are boringly direct, aiming to give information about the job
rather than to sell it.

All this points to three different conceptions of management. The French
regard it as intellectually complex, the Germans as technically complex, and the
British as interpersonally complex. But they agree on one thing it's complex.

Il. Read the text again. Choose the best sentence from the list to complete each

gap.

a) but are not sure about the supply and will consider others.

b)  The market is becoming increasingly competitive.

c) The attention given to rewards in the UK indicates the importance of the
job and its responsibility.

d) Even the tone of the job advertisements is different.in the three countries.

e) They usually demand «a degree in...», not simply «a degree».

f) For the first time the shares of the company can be bought in Europe.

g) Instead, the British give importance to social, political and leadership
skills.

Ill. Choose the best answer to these questions according to the text.
1. What do most British advertisements consider an essential price of
information?
a) religion; b) driving license; ¢) material incentives.
2. What are French and German adverts precise about?
a) hobbies; b) qualification; c) material rewards.
3. What do the British give importance to?
a) intelligence; b) social, political and leadership skills;
c) sound knowledge.
4. What is the tone of French and German adverts?
a) boringly direct; b) racy; c) energetic.
5. How do the French regard management?
a) as technically complex; b) as interpersonally complex;
c) as intellectually complex.

IV. Here are some dictionary definitions of words from the text. Each word has
more than one definition. Choose the definition that fits each of the words in the
text best.

1. degree a) a scientific division of an angle or scale;
b) diploma (of a university).

2. sound a) healthy, not rotten;
b) thorough, deep.

3. board a) group of persons controlling a business or a government
department;



b) large flat piece of wood or other material for a special
purpose, sometimes bare, sometimes covered with cloth
leather, etc.

4. racy a) having strongly marked qualities which show race or kind;
b) vivid, spirited, vigorous.

V. Find word and expressions which mean the same as the following.
1) ability
2) not clear
3) bonus
4) to require
5) to point

VI. Write down key words, phrases and sentences.

VIl. Make an outline of the text.

UNIT Il
I. Read the text. Then read the titles. Which of the following titles is the best?
a) New Tendencies in Network Communications.
b) New Tendencies in Advertising.
c) New Tendencies in Economic Globalization.
d) New Tendencies in Recruitment.

Members of America’s professional and managerial classes have always
left college confident of at least one thing: they had taken their last test. From
here on, they could rely on charm, cunning and/or a record of accomplishment
to propel them up the corporate ladder. But that's not necessarily true any
longer. A growing number of companies, from General Motors Corp. to
American Express Co., are no longer satisfied with traditional job interviews.
Instead, they are requiring applicants for many white-collar jobs — from top
executives — down to submit to a series of paper-and-pencil tests, role-playing
exercises, simulated decision-making exercises and brainteasers. 1

The tests are not about mathematics or grammar, nor about the baS|c
technical skills for which many production, sales and clerical workers have long
been tested. Rather, employers want to evaluate candidates on intangible
qualities: Is she creative and entrepreneurial?

Can he lead and coach? Is he flexible and capable of learning? Does she
have passion and a sense of urgency? 2 . Most important, will the
potential recruit fit the corporate culture?

These tests, which can take from an hour to two days, are all part of a
broader trend. «Companies are getting much more careful about hiring», said
Paul R. Ray Jr., chairman of the Association of Executive Search Consultants.

Ten years ago, candidates could win a top job with the right look and the
right answers to questions such as «Why do you want this job?» Now, many are
having to face questions and exercises intended to learn how they get things
done.



They may, for example, have to describe in great detail not one career
accomplishment but many — so that patterns of behavior emerge. They may
face questions such as «Who is the best manager you ever worked for and
why?» or «What is your best friend like?» 3

The reason of the interrogations is clear: many hired work out badly.
About 25 percent of recently hired senior executives are judged failures,
according to the Center for Creative Leadership in Greensboro, North Carolina,
which surveyed nearly 500 chief executives.

4 . Searching and training can cost from $5,000 for a lower-level
manager $250,000 for a top executive. Years of corporate downsizing, a trend
that has slashed layers of management, has also increased the potential
damage that one bad executive can do. With the pace of change accelerating in
markets and technology, companies want to know how an executive will
perform, not just how he or she has performed.

«Years ago, employers look for experience — has a candidate done this
before?» said Harold P. Weinstein, executive vice-president of Caliper, a
personnel testing and consulting firm in Princeton, New Jersey. «But having
experience in a job does not guarantee that you can do it in a different
environment.»

At this point, most companies have not shifted to this practice. Some do
not see the need or remain unconvinced that such testing is worth the cost. But
human-resource specialists say anecdotal evidence suggests that white-collar
testing is growing in popularity. 5 . With so little information on which
to base a decision, «most people hire people they like, rather than the most
competent person», said Roy Owens, a psychologist in Snohomish,
Washington, who sizes up executive candidates. Research has shown, he said,
that «most decision makers make their hiring decisions in the first five minutes
of an interview and spend the rest of the time rationalizing their choice.»

Besides, with advice on how to land a better job about as common as a
ten-dollar bill, many people are learning to play the interview game.

Even companies that have not started extensive testing have toughened
their hiring practices. Many now perform background checks, for example,
looking for signs of drug use, violence or sexual harassment. But the more
comprehensive testing aims to measure skills in communications, analysis and
organization, attention to detail and management style; personality traits and
motivations that behavioral scientists say predict performance.

Il. Read the text again. Choose the best sentence from the list to complete each
gap.
a) Most young entrepreneurs do not have time to read the magazine once a
week.
b) What has brought so many employers around to testing is a sense of the
limitations in the usual job interview.
c) How will he function under pressure?
d) The cost of bringing the wrong person on board is sometimes huge.
e) They believed that sales would generate enough income.



f) Others put candidates through a long series of interviews by psychologists
or trained interviewers.

g) The answers, psychologists say, reveal much about candidate’s
management style and about himself or herself.

Ill. Choose the best answer to these questions according to the text.
1. What do employers want to evaluate potential recruits on?
a) technical skills; b) intangible qualities; c) mathematics.
2. What do companies want to know?
a) how an executive has performed;
b) how an executive will perform;
c) how an executive hasn’t performed.
3. How are about 35 percent of recently hired senior executives judged?
a) failures; b) geniuses; c) unhealthy.
4. What is growing in popularity as human-resource specialists say?
a) traditional job interviews; b) grammar tests; c) white-collar testing.
5. What question could candidates be asked to wina top job ten years ago?
a) What is your friend like?
b) Why do you want this job?
c) Who is the best manager you ever worked for and why?

IV. Here are some dictionary definitions of words from the text. Each word has
more than one definition. Choose the definition that fits each of the words in the
text best.

3) executive ) person-in business who makes decisions/plans;

) which puts things into action.

4) background a) the back part of a painting against which the foreground
stands out;

b) person’s past experiences, education, environment.

1) to land a) to come to a land;
b) to obtain.
2) recruit a) someone who starts to work for a company;
b) new soldier, new member of a club.
a
b

V. Find words and expressions which mean the same as the following.
1) feature
2) to cut
3) office job
4) to get

5) to persuade

VI. Write down key words, phrases and sentences from each paragraph.

VIl. Reduce the text to one fifth of its original length preserving the most
important information.

UNIT HI



1. Read the text. Then read the titles. Which of the following titles is the best?
a) Reuters
b) Bloomberg Multimedia Empire
c) The New York Exchange
d) The Internet

Ubiquity, says Michael Bloomberg, was never his intention. Nonetheless,
his name seems to be everywhere these days. A new deal with AT&T,
announced on Monday, will plaster the Bloomberg name on Internet cell
phones. An autobiography, Bloomberg By Bloomberg, is out in stores this
week.1 . He also syndicates radio programming, publishes a
consumer financial magazine and maintains a Web site that says gets 45,000
visitors a day.

None of these, however, represents the core business of this 55-year-old
from Medford, Massachusetts; they are all parts of a multimedia empire founded
in 1981 when Bloomberg left Salomon Brothers with $10 m and an idea centred
on the most basic and valuable of late 20™ century commodities: information.
Bloomberg set to work, with the money and a small group of computer
programmers, to come up with an analytical system that would be simple for
brokers to use. With some initial financial backing from Merrill Lynch, he built his
network to deliver stock and bond information, a database of corporations’
histories and analysis. And the name is Bloomberg.

Today, Bloomberg terminals, for which subscribers pay $1,200 a month,
sit on the desks of 75,000 financial analysts around the world. 2
Bloomberg’'s name has become a one-man brand, prominent throughout the
investment and newsgathering industries. Yet, unless you travel in the financial
world, you may not have seen his empire growing. Rupert Murdoch and Ted
Turner probably have vaster holdings, but Bloomberg, with his privately held
company, may exert more autocratic control than any one man in the
information business.

A recent visit to Bloomberg world headquarters on Manhattan’s Park
Avenue found people crowding into and through the lobby as if it were the
trading floor of the New York Stock Exchange. On this day, many of the young
employers were carrying advance copies of Bloomberg By Bloomberg, a clear
demonstration of what one outsider described as the «cultish» devotion
employers seem to have for the man, his empire and his vision.

3 . Although his desk is off to one side, right next to a small
glass-enclosed sitting area, nearby employers can easily hear him on the
phone.

Surrounded by state-of-the-art digital equipment which powers his
information network, this John Hopkins-educated engineer with an MBA from
Harvard keeps a slide rule on his desk. («Other people must be smarter than |
am, because they can use calculators and see relationships; | think calculators
mask.») He says he wrote his book on a yellow pad.

He disdains critics who predict that the Internet will displace the need for
the «Bloomberg box»: 4 . «Our long distance bills, hardware,
depreciation and money sent to phone companies, is about $100 m a year», he



said. «If the Internet really worked and | could get our customers to come to us
though the Internet, we’d save $100 m.»

«Why can we charge $1,200 a month and these other idiots can’t get
away with anything?» he asks. «Because on the Internet, when you try to
charge for anything, usage goes to zero. The data that we have is publicly
available, but the value added is in the categorization and the utilities that let
you do something with it.»

Though Bloomberg has fewer subscribers than Reuters and Dow Jones /
Telerate, his competitors in the financial information business, his system is
growing faster and is often praised as easier to use. 5 . What happens
next, as Bloomberg figures it, is equal parts luck and design.

«There are many reasons why some succeed and others don’t»,
Bloomberg writes. «Three things separate the winners from the losers over the
long term: time invested, interpersonal skills and plain old-fashioned luck.»

Il. Re-read the text. Choose the best sentence from the list to complete each

gap.

a) He has turned his original concept into a reported $1 b-a-year multimedia
news and information empire.

b)  The revenue from advertising was very low.

c) Bloomberg claims he doesn’t pretend to know the direction he’ll go.
d) People can now buy and sell shares from home.

e) These premises are crowded, but no one, not even Bloomberg, has a

private office.

He owns a news wire service and a satellite television network.

g) The Internet, he asserts, is nothing more than a delivery system — and an
unreliable one at that.

—h
N

Ill. Choose the best answer to these questions according to the text.
1. When was Bloomberg multimedia empire founded?
a) 1860; b) 1937; c) 1981.
2. What is the most basic and valuable of late 20™ century commodities?
a) oil; b) information; c) gold.
3. What control may Bloomberg exert in the information business?
a) anarchic; b) democratic; c) autocratic.
4. What is available to all employers?
a) free food and drinks; b) private offices; c) tokens for pinball games.
5. What is one of the things separating winners from losers?
a) big sums of money; b) pedigree; c) plain old-fashioned luck

IV. Here are some dictionary definitions of words from the text. Each word has
more than one definition. Choose the definition that fits each of the words in the
text best.
1) bond a) link, joining together,
b) paper showing that money has been lent to the
government.
2) vision a) ability to look and plan ahead;



)
3) to charge a) to put a cartridge in a gun; to put electricity in a battery;
b) to make someone play.
4) brand a) identification mark made (on cattle) by a hot iron;
b) sort of product made by one manufacturer.

V. Find words and expressions which mean the same as the following.
1) rival
2) failure
3) being everywhere
4) to claim
5) merchandise
VI. Write down key words and the topic sentences from each paragraph.

VIl. Give a short summary on the text.

UNIT IV
. Read the text Proven environmental commitment helps create committed
customers. Then read the sentences given below. Which of the following
sentences renders the idea of the text best.
a. Patagonia, a Californian company, is an outdoor clothing firm with a
commitment to environment causes.
b. Patagonia sells its products through retail outlets and by mail.
c. The company runs its affairs in an ethical and honest manner.
d. The overall objective of Patagonia’s environmental education policy is
to create committed customers.

When self-proclaimed «Patagonics» dial up Patagonia, they know they
will receive more than a high-quality fleece anorak or a waterproof pair of hiking
boots. Thanks to the California-based retail firm’s outdoor clothing catalog and
its exemplary method of communicating, its corporate environmentalism,
customers are not only knowledgeable about the company’s environmental
progress, they are loyal*, too.

When' purchasing products from Patagonia, 1 . Patagonia’s
example demonstrates good green-marketing strategies.

Educate customers on environmental
product attributes and benefits

Patagonia takes pains to explain its products earth-friendliness and show
customers the big picture. For example, in the mid-1990s, Patagonia began
using organically-grown cotton exclusively. In addition to highlighting the
organic* merchandise in product descriptions in catalogs, essays explained
2 :

Other essays expanded the issue beyond individual products and
processes. In a 1996 catalog essay, for example, CEO Yvon Chouinard
explained the rationale behind the company’s switch to organically-grown
cotton, including the problems associated with producing conventional cotton,



the larger long-term benefits of investing in organically-grown products and the
need to think about long-term sustainability issues when choosing products.
One might assume that explaining the benefits of organic cotton in
catalogs was a strategic move, since the company had to justify the $2 to $10
premium per garment. But other essays, for instance, addressed environmental
issues are not directly linked to company profit.
Broad environmental education teaches consumers that although thinking and
buying greens is more expensive, 3

Use a variety of media

Patagonia’s advertising and company literature aim to educate. Instead of
a catalog packed only with sales information, 4 . Demonstrations in
Patagonia’s retail stores engage* customers with interactive displays of the
earth’s processes. Annual reports, pamphlets and other company literature
explain new ideas in environmentalism. And Patagonia was one of the first
companies to discuss sustainability in paid media.

Patagonia realizes that customers sometimes doubt corporate
environmental claims. To avoid consumer backlash*, Patagonia publishes the
rules of its internal environmental assessment.

This report reviews all office, production and merchandising activities and
uncovers opportunities to cut waste and reduce energy. Readers can see how
Patagonia tries to conduct business in a socially responsible manner, from
choosing long-lasting efficient light bulbs to providing on-site childcare for
employees’ children. The grounds around the company’s headquarters even
feature edible landscaping — banana trees.

Through an environmental grants program, dubbed* Earth Tax, Patagonia
pledges 1% of its sales or 10% of its pre-tax profit, whichever is greater, to
small, local preservation and restoration efforts. Through* April 1997, Patagonia
had contributed more than $8m to hundreds of such organizations.

Believing that grass roots™ efforts do the most to raise community answers of
local problems, Earth Tax program targets smaller grass roots organizations
committed to issues such as biodiversity*, old-growth forests, environmentally
preferable methods of resource extraction, alternative energy and water, social
activism and environmental education. 5

Empower consumers to take action

An annual Earth Tax Report invites customers to apply for grants for local
projects. Participants are quick to apply and inform the company about
environmental successes. One recent catalog featured a customer sporting an
insulated Patagonia guide jacket as she rescued a calf born during a Colorado
snow storm.

With powerful communication, meaningful corporate environmental
progress and avenues for consumer activism 6

*loyal: always supporting *though (US): until (GB)
*organic: made without artificial chemicals *grass roots: at the level of ordinary people
*a backlash: a strong reaction against smth. *biodiversity: many different plants and

*to dub: to give an «unofficial» name animals existing in one area




Il. Read the text again. Choose the best sentence from the list below to
complete gap.
a) Why organically-produced products are environmentally preferable.
b) Patagonia’s catalog is more like National Geographic.
c) Many countries organize separate waste collections for glass, paper,
metal and plastic, but many others don't.
d) Customers also buy into a commitment to environmental restoration.
e) It is no wonder that even skeptics become Patagonia customers and
customers become «Patagonics».
f) The government will publish the results of the environmental study next
month.
g) By funding more than 350 of these efforts each year, Patagonia helps
raise community awareness nationwide.
h) Environmentalism is less taxing on the earth in the long run, and
therefore, on individuals.

Ill. Choose the best answer to these questions according to the text.
1. What kind of customers does Patagonia have?
a) established, b) promoted, c) loyal.
2. What do customers also buy into, when purchasing products from
Patagonia?
a) scientific research, b) charity, c) a commitment to environmental
restoration.
3. What does Patagonia take pains to explain to customers?
a) its product’s earth friendliness, b) its product’s quality,
c) its product’s reliability.
4. What does Patagonia’s advertising and company literature aim to?
a) entertain, b) educate, c) investigate.
5. How many grass roots efforts does Patagonia fund each year?
a) 150, b) 350, c) 250.
IV. Match the nouns and verbs as they are used in the text.
1) address business

a)

2) doubt b) awareness
3) publish c) results

4) conduct d) issues

5) raise e) claims

V. Find words and expressions which mean the same as the following.
informed

do one best

product

ordinary

admit

clothes

demand

inner

NN =



9. evaluation

10. comprehension
11. suitable methods
12. all over the country

VI. Make an outline of the text in 7—10 sentences.

UNIT IV
I. Before reading the text below replace the words in brackets with an
appropriate word from the box.

Policy customers impact

stores program issues

review factory estimate

goal consumption
A
Whilst our day-to-day running of the business does have an environmental
1 (the effect of one thing on another), the 2 (difficult

questions or problems) with our products were, and still are, far greater.

B

Rather than just produce a 3 (an official course of action) quickly and
stick a few green labels on our products, we started a fundamental 4
(examination/analysis) of the product range and the day-to-day running of the
business.

C
Basic contradictions such as our 5 (objective) to sell more, so
contributing towards 6 (the amount of products used or bought),

however, still provide a philosophical challenge to any retailer.
D

There is considerable work to be done in the 7 (shops) and the way
we communicate with our 8 (the people who buy products).

E

B&Q environmental 9 (a plan of action) started at the beginning of 1990.
F

A 10 (a place were goods are produced) in Bolivia is expanding
rapidly to make wooden garden furniture. We 11 (calculate) that we

buy products from 60 countries.

Il. Now choose the most appropriate extract (A—F) to fill in each of the gaps in
the text.

1 A growing number of customer inquiries and difficult media inquiries
were made as that the environment was becoming a business issue. Action was
catalyses when we were asked by a leading Sunday newspaper «How much
tropical timber does B&Q stock?» Unable to answer the question, the obvious
interpretation by the journalists was «If you don’t know, you don’t care». We did
care and we knew that many of our staff cared and most important of all, our
customers cared. 2



This is our third environmental review. The first «<How Green is my
Hammer?» was published in August 1993 and the second «How Green is my
Front Door?» was published in July 1995. This report covers progress to
October 1998.

As the title suggests, all the reviews focus on the products we sell. Many
of the issues were not obvious and were only realized after considerable
investigation. For example, brass door handles were made in appalling working
conditions in India, solvents or Volatile Organic Compounds (VOCs) in paint
contributed to atmospheric pollution and the wood was connected to
deforestation. 3

This report also tackles in far more detail than ever before sustainability
and some of our ideas and thoughts on this concept. 4 . Whilst B&Q
has stores in the United Kingdom, our fingerprint extends across the world. In
the Philippines, people in coastal villages are collecting shells to make
lampshades. In India, there are hundreds of looms in cottage units in which our
doormats and hand knotted rug are made. 5
6 . In 1997 we launched our envwonmental program for stores —
«QUEST for stores» — its success has been staggering.

We also recognize that our stores have a significant impact on the local
communities both during their planning and construction, but also the
subsequent running of the store. This includes addressing our role as a member
of the local community and the issues associated with the design and impact of
our stores.

Il. Use the correct form of the words in the box to complete the sentences
below.

suit manufacture responsible profit
effective  consult commit sustain

1. This particular product is not suitable for use inside the home.
2. We have found thatin many countries, suppliers do not understand the

importance of using natural resources that you can rather than
deplete.
3. We are going to discuss the of the new sales policy at the

meeting this afternoon.

4. The best way to reduce the environmental impact of business operations
in developing countries is by helping companies there to take greater

for managing the resources that they use.

5. When designing packaging, that can be recycled, it is sometimes
necessary to use the services of who can advice on the best
ways to do this.

6. Although selling green products can help to protect the environment, it
must also be for the company.

7. Research shows that consumers would like to see more companies
making a genuine to protecting the environment.

8. industries produce the highest levels of air pollution.

IV. Choose the best answer to these questions according to the text.



—_—

. What kind of review is this one?
a) research, b) musical, c¢) environmental.
2. How many reports have been published already by B&Q?
a) five, b) three, c) two.
3. What progress does this report cover to?
a) to August 1997,
b) to July 1995,
c) to October 1998.
4. What do all the reviews focus on?
a) the products they sell,
b) the successes they have,
c) the failures they suffer.
5. When were many of the issues only realized by B&Q?
a) after customer inquires,
b) after considerable investigation,
c) after media inquiries.
6. How many countries does B&Q buy products from?
a) 20, b) 100, c) 60.

V. Find words and expressions which mean the same as the following.
while

problem

personnel

horrifying working conditions

serious research

small carpets

2 o ol

VI. Make an outline of the text in 7—10 sentences.
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